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1) PART A General Paper

Question No. 1/ Question ID 1703



The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization, along with the percentage (%) distribution of employees working
in four departments -HR. Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Employees in an Organization

Percentage (%) Distribution of Emplovees
City Number of i
) e HR  |Finance IT Accounts

Delhi 900 - 18% - 28%
Mumbai ||760 15% |- 30% |-

Bengaluru||- 18% [20% - 32%
Hydrabad ||- - 25% 18% 35%
Gurgaon (700 20% (22% - 20%

Note: 1. Some values are missing in the table (marked as'__") that you are expected to calculate if required.

2. Each employee works in only one department.

If number of employees in Bengaluru is 10% less than the number of employees in Hydrabad. then what is the difference between the
number of employees who work in Accounts department in these 2 cities?

244
208

194

. 270

Frafafad aifere 3 dig fafis el - fiweh. s, ST, gaxian ok 1siiia # fdl e H euaiial @i Je e 715 8 |
3G e | HHARG! @1 Hd GBAT 4260 § | 1Y B, IR [T - AT G (TIR), a9, Mgl SR axar 8§ ok sdanial &
faavur o1 gfawraan +ft €1 715 81 59 difereT | foU U siws] & YR W - 4T 7 U3 & SR difore|

fendfl 7T H HH=IRG! BT YERAR TR

o —

o

P HHIRA! P faaR0r &1 Ufa=rddar
=g sHen AR | fag | emsdt |
(Eesull 900 ; 18% - 28%

[N 760 15% ; 30% -
CHINGS : 18% | 20% . 32%
G - : 25% | 18%

3
LSRG 700 20% | 22% - 20%

(1) a1 8 & = § fafgd g8 a9 7 fRu e 8| e ukea, o srawas 8. o o sifia 31
2) YAP FHAR! Had TP g faum § driRd g1

e ST I SHHATRG] 1 G- 5aXIaE § SHHANRG] B G- $I qa-1 § 10 UiAd $H 3, a1 5 ol el § Al [aumT § Srikd
FHHAIRT 3R 57 &1 W1 B o faum & SrRd SHaial &1 S8 & o9 &7 SiaR a1 g2

1
1
2
2
3 (Chosen Option)
3 (Chosen Option)
4
4

Question No. 2/ Question ID 1702 Marks: 2.00




The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR. Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

Percentage (%) Distribution of Emplovees
Number of ;

Caty Employees — =

E HR  |[Finance IT Accounts
Delhi 900 - 18% - 28%
Mumbai |[760 15% |- 30% |-
Bengaluru[- 18% |[20% - 32%
Hydrabad |- - 25% 18% ||35%
Gurgaon (700 20% |[22% - 20%

Note: 1. Some values are missing in the table (marked as'__") that you are expected to calculate if required.

2. Each employee works in only one department.

If in Delhi. number of employees who work in Accounts department are 40% more than the number of employees who work in HR
department . then what is the number of employees who work in IT department in Delhi?

. 266

306

352

. 294

fFafaRad aifie! & i fafi e - i, g, STge. daIas SR T[S # frxlt Tire- 8 eranial o Se axiid 715 g
3G e | HHARA] @1 Hd GBAT 4260 8| 1Y B, IR [T - A G (TIR), a9, Mgl SR oA § ok sdanial &
faavur o1 ufawraan +ft €t 715 81 59 difereT | foU U siwsi & YR | - 4T 7 usi & SR difoe|

femdfl 7T & HH=IRG! BT YERAR TR

o —

v

e 29 HHIRA! P faaRor &1 ufa=rddar
g B ¥ AR | fag | smsdt |
(Esull 900 ; 18% - 28%

[eH] 760 15% ; 30% -
STge - 18% | 20% - 32%
BIAIG : : 25% | 18% | 33%

HSRIES 700 20% | 22% - 20%

(1) cTferepT & = fafgd oo 7= 7 Ry e §| fomer uRkea, afg srawges 8. & o sifya g1
(2) AP HHARI Had TP gl [GUFT § SRRd 5

afe; faeeht & ora fqum & SrlRa SHamial o 9@ TaeR AU & Srikd SHaral &1 68 &1 gaq 3§ 40% e g, @t fow §
S faum & wrika HHaal B Te a2

266
306
352
294
1 (Chosen Option)
1 (Chosen Option)

o o0 o ofzro~-
AP OW NN




Question No. 3/ Question ID 1705 Marks: 2.00

The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai. Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization, along with the percentage (%) distribution of employees working
in four departments -HR. Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

Percentage (%) Distribution of Emplovees
Number of ;

Gy Employees = -

E HR Finance IT Accounts
Delhi 900 - 18% - 28%
Mumbai |[760 15% |- 30% |-
Bengaluru|[- 18% |[20% - 32%
Hydrabad |- - 25% 18% [33%
Gurgaon (700 20% |[22% - 20%

Note: 1. Some values are missing in the table (marked as'__") that you are expected to calculate if required.

2. Each employee works in only one department.

If number of employees who work in Accounts department in Mumbai is 38 more than the number of employees who work in IT
department in Gurgaon, then what is the number of employees who work in Finance department in Mumbai?

. 114

.120

.08

.124

e difcret 7 di= fafis el - facehl, g, SR, SerTem 3R [siia H fowit i # ee=nial 1 W axidi 715 & |
3G Y6 B HHARA] @1 $a GBAT 4260 8| 1Y &Y, IR [T - IHa G (TIR), a9, amsdl SR avar 8§ ol sd=nial &
faavur ot ufawraan +ft €1 718 §1 59 aiferet | foU U siwrsi & YR | - U 77 usi & IR difog|

fendfl T & HH=IRG! BT YERAR TR

o —

= W

P HEARG! & a0l DI Gia=Iadl
Rt gL R | foag | emedt | Qur
(sl 900 - 18% - 28%

s 760 15% : 30% -
CHN . 18% | 20% : 32%
TCEIG = = 25% | 18% || 35%

RSRIE] 700 20% | 22% . 20%

(1) AT & & Eu H fufed oo om 6t feu U § | fome uRean. af% sraxas g1, fasar o srifém 31
(2) AP HHIRI Had TP ol [OUFT § SriRd 5

Wﬁmﬁmﬁmmﬁﬁaﬁmwﬁaﬁ 3t AU & PriRd SHAIRa] B 9 & ga- 4 38 Sf® g, dl
# famr faum & erika el o T faai 82

. 114
. 120
. 98
. 124
1 (Chosen Option)
1 (Chosen Option)
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Question No. 4/ Question ID 1704 Marks: 2.00

The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai. Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization, along with the percentage (%) distribution of employees working
in four departments -HR. Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

Percentage (%) Distribution of Emplovees
City Number of a
- e HR  |Finance IT Accounts

Delhi 900 - 18% - 28%
Mumbai ||760 15% |- 30% |-

Bengaluru||- 18% [20% - 32%
Hydrabad |- - 25% 18% ||33%
Gurgaon (700 20% (22% - 20%

Note: 1. Some values are missing in the table (marked as'__") that you are expected to calculate if required.

2. Each employee works in only one department.

If the number of employees in Bengaluru is 10% less than the number of employees in Hydrabad. then the total number of employees who
work in Finance and Accounts departments of the organization is more than 415 in exactly cities.

1. two

2. three

3. four

4. five
fafafad arfere & ofa fafie <Rl - fiwl. gras. dTqR. saxiang SR T[sTia & fhxfl @i1e- & sl & Se g3 75§
3G Y6 B HHAIRG] @1 Hd GBAT 4260 8| 1Y &Y, IR [T - AHa G (TER), 9. amsdl SR axar 8§ ol sdanial &
foarur ot wfqwraar it €1 715 81 59 aifereT § AU U sfiwsi & SyR W = fou U uyi & IR iforul

ferdfl T & HH=IRG! BT YERAR TR

] HHAMRA! P (G0l B Ufa=Tddl
T | DRI G o [ e |
feeeit 900 . 18% R 28%

[N 760 15% s 30% -
CHNS . 18% | 20% : 329%
TCIEIG = = 25% | 18% || 35%

HSRIES 700 20% | 22% " 20%

OGUNEIER ' =y 1 [fgd o OF 81 R U & | o1 uReaH. afe sraxae g1, fovar S oiaféa g
2) TS HHARI Had U ol fOUTT H HRRA g

afe; ST | FHrarial 3 TRe fexiare § SHaiRal @ GBI B e 7 10% BH 3. d 96 § o $iR awr faun § srika
FHaal @ oo T e eI T 415 9 4@ B

1.3

2.dH

3.9dR

4.919

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)




Question No. 5/ Question ID 1701 Marks: 2.00

The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR. Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

Percentage (%) Distribution of Emplovees
City Number of i
- e HR  |Finance IT Accounts

Delhi 900 - 18% - 28%
Mumbai ||760 15% |- 30% |-

Bengaluru||- 18% [20% - 32%
Hydrabad ||- - 25% 18% [35%
Gurgaon (700 20% [22% - 20%

Note: 1. Some values are missing in the table (marked as'__") that you are expected to calculate if required.

2. Each employee works in only one department.

What is the total number of employees in Mumbai and Gurgaon who work in IT department?

L
o ko

8
5
-

o o
o

. 494

fFafaRad aifieT & i fafie e - faweh. g, dTge, daxIas SR T[S H el e § eranival 1 e =i 18 g
3G e B HHARA] @1 Hd GBT 4260 8| 1Y B, IR [T - A G (TIR), w0, amsdl SR oA 8§ ol sdanial &
oo 3t wfcrraar ot 1 7S 81 39 difere # fou U st & SMyR W A fou 7u usi & SR il

fendfl 7T & H=IRG! BT YERAR TR

e 28 PHIRA! P faaRor &1 Ufa=rddan
g B ¥ AR | fag | smsdt | wur
(Esull 900 ; 18% - 28%

s 760 15% X 30% .
BRSNS 5 18% | 20% . 329%
B - s 25% | 18% | 35%

HSHIES 700 20% | 22% - 20%

(1) cTferepT & = fafgd oo 7= = iRy e §| e ukear, o sraxge 8. famar o sifia g1
(2) AP HHIRI Had TP ol [OUFT § SRIRd 5

TS SR TSa H SMget faum & SriRd SHaial o $a 9= [ g2

1.482
2.452
3.570
4.494

o1
O 2




O 3
3
4 (Chosen Option)
4 (Chosen Option)

Question No. 6/ Question ID 1743

Marks: 2.00

As per the recommendation of the National Education Policy (2020). the Indian Standards of skills will aligned with the International

Standard Classification of occupations of

1. UNDP

2. UNESCO
3.ILO
4.1ITU

78T e i (2020) P RBIRT & SER S & HRAE AFS] Pl FafRad # § foge sgaardl & Siarivig Jrs FHiiou

& 1Y TR fobar sma|

1. guASIdl

2. TP

3. JTRUas

4. 3MEEY

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 7/ Question ID 1716

According to Abhinava Gupta, the Rasa theory of communication provided an opportunity for audience's

1. Literary taste

2. Materialistic welfare
3. Socialisation

4. Moral cultivation

Y T & IR TN & 39 RAGid A gidrsii & & Q1Y 3fa¥R varH fan

1. OIefd® 3marg
2. Yifq®s Seamr
3, JHOIER0T

4, Ao ISR

O 1
1

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 8/ Question ID 1741

Marks: 2.00




The union government's mendate for Humayun Kabir committe was to explore the possibility of

1. Privatisation of public universities
2. Setting up of new university

3. Establishing correspondence courses
4. Funding private universities

AR DR FATd BT AR fbgep! GHTa-T Tem- & fag U1

1. growi-e fayfaemeal &1 fFofieor
2. -7 fayfaeea o —rg=T
3. TR YI6a%H] I RITGA]
4. ot fayfaemeal &1 e
@) 1
1
@) 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 9/ Question ID 1738 Marks: 2.00

Given below are two statements:
Statement I: Cultural eutrophication is caused by increased nutrient input into water body mainly due to human activities
Statement IT: Cultural eutrophication deaccelerate the 'aging' of a water body enormously over natural rates.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

2 < Py fag MU B

HYF 1 : HoaRd Jelthh - TEIaal AT fharsan! 4 wid e & aftfd 1S del 31 3Td & HRUT S 8
DY 11 : HeaRd LI DRI, O bl B TSHT Pl IPpiad a2 DI gal § S dig 7Tfd § HH BT 6|
SWRIE DY B 3l H, i 3T fadedi & I T SugTd IR DI Ig- B

1. By 1 3R 11 gH1 98 &
2. BYF 1 3R 11 31 Tad &
3. PYT 1 T8I 5. Afh- HYF 11 7Tad ©
4. PYT 17T ©. Afp HYT 11 T8l &

1 (Chosen Option)
1 (Chosen Option)

o © O O
AR WW NN

Question No. 10/ Question ID 1740 Marks: 2.00




Serarg uRad- Jett Ggad AP BHad H-avH HEfaRad § F fog o1 aRkomd o1l

1. 9T TEEian
2. Gifegd Hiciord
3. 91q fafaydr d-a3
o 4 9l RreR wad (s 9fie)

1 (Chosen Option)
1 (Chosen Option)

o © O O
BEWW NN

Question No. 11/ Question ID 1745 Marks: 2.00

Given below are two statements:
Statement I: Reputed scholars like Panini and Chanakya had their education from Nalanda university
Statement IT: Thakshashila was a university known for its education in Indian arts and science especially medicine

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II s false
4, Statement I is false but Statement II is true

9 <1 HU AU MU §: TP SMUDUT (Assertion A) F FY H fIfEd ¢ T GIRT IUP BRUI (Reason R) B T H:
PYF 1 : T SR =0T 58w fagr A Arciar fasfaemey 9 st fRian ggur ot i)
YA 11 : A& YR et 3R g fa=wey 4 fafden & erg-t fRian & fog S i o)

SR DY & 3faiie H, 19 fau T fdwedl § F el TR &1 99 Difeu|

1. ASRR M II 8 IR R A DI Je! RS ©

2. A 3R R 3HI 9 8. AT R. A B1 TE! IR TE &
3. AR, AP R AR

4. AT S, AMPTIR IR

O 1
1

QO 2
2

() 3(Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 12/ Question ID 1708 Marks: 2.00




Match List I with List IT

Match List I with List IT

il 19 1Y Gl 11 BT e i

Online teaching tool Advantages for Teachers '\‘Fﬁ
. I
Cisiiig Encouraging student engagement -\‘Fﬁ I
] and collaboration fostering critical mrg-q 31 <
A. [Management System| I thinking and problem solving ( o (ﬁr&raﬁ %m TTH)
(LMS) EECEL)
5 RESIGGI TEgHEl
Creating and administering A STETH Hae 1 % @?ﬁﬁiswm sk
B Video conferencing [ [assessments quickly and easily 8 i (TAUHTE) :
; " |lautomating grading and feedback WW ?Gﬁq glaﬁq“ga Pl 3
Streamlining course B. [[afsa B=pfan IL TR AT, AFET 3R
C. [Discussion forums I administration, managing student higdd Waled dl
' |ecend and wrades - UTGEHH UTei 1 §3el S, ST
€ I v > 3
—— — i % ReTE SR IS @1 Uaed
elivering engaging an e - T aIeD
D Online Assessment v interactive class sessions aﬁqﬁl‘s-‘-{ H\?}W . 3R a\?fﬁﬁm \}ﬁmgﬂ WA
" |platform " [connecting with remote learners D. e IV [P gX] oy
SEAll

Choose the correct answer from the options given below: =i fau e fow el & 4 981 3R &1 994 Sifod|

1. A-IV. B-III. C-I. D-II
2. A-L. B-IV. C-II. D-III
3. A-II. B-IIL. C-IV, D-I
4. A-IIL. B-IV. C-1. D-II

1. A-IV. B-III. C-I. D-II
2. A-I. B-1V, C-II. D-III
3. A-II. B-IIL. C-IV. D-I
4. A-IIL. B-IV. C-1. D-II

O o O O
WWNN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 13/ Question ID 1720 Marks: 2.00

Given below are two statements:
Statement I: The electronic space of Internet has failed to displace the Institutional space in a society even an iota.

Statement IT: The Internet communication has broken down the hierarchies of race. ethnicity and gender

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

12 < Py Ry MU &:

YT : ST DT AT 1 (W) THTS H AT 7TE B! B a e fownfig o33 ¥ swa T 8
FYT 1 : 33 JHITUT 3 71, Foraiaan iR & &1 Gafet &1 7y s fean g

JWRIFd DY & 3l H, i AT T fasbedil § I el IR D1 99 DITGT:

o =

o

1L PYFIAR NG 9a 8
2. BYT 1 AR I 3T A
3. PYT 1A . A PYT 11 T &
4. PYT A S, A PT PUT I TT ©
(O 1 (Chosen Option)

1 (Chosen Option)

O 2
2




Question No. 14/ Question ID 1726

Arrange the following group of terms in order of increasing intension:

A. Tiger

B. Mammal
C. Feline
D. Animal

Choose the correct answer from the options given below:

1.A.C.B.D
2.D.A.C.B
3.D.B.C.A
4. A.B.C.D
o1

1
O 2

2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

fafead 2ee T5g o1 [und & SRIgHH H Faiyd Hifei|
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B. TAUm™t
c.fasm

D. T
= feu e fomedl § € 91 TR &1 99 Difog|
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Question No. 15/ Question ID 1739

BT dice g IR |

A photovoltaic array is

1. a single solar cell 1. TP Ud YR YA ®
2. a single solar module 2.Td Upd IR uﬁﬂg %
3. a single solar panel 3.Uh Uhq IR 49
4. combination of solar panels 4, IR U9dl &1 9o %
O 1
1

O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Marks: 2.00

Question No. 16 / Question ID 1732

Marks: 2.00




You and your friends decided to go to Goa after you finish your finals, However. your demanding parents set a couple of conditions to join
your friends (See MS-EXCEL spreadsheet below)

A B C D
leusser sr st Minimal results  |Actual Allowed
gory needed results (Yes/No)
Hours spent on homework
2 2 3
weekly
3|Midterm score 70 68
4|Final exam score 75 77

Imagine your parents would care about exams (only Midterm score and Final exam score conditions are relevant). Choose one
option/formula that you can use for cell D2 to answer the question: will you be able to join your friends with the results given?

. =IF (C3>=B3. IF (C4>B4."Yes". "No"). "No")
. =IF (AND (C3>=B3. C4>=B4). "Yes". "No")
. =IF (C3:C4>=B3: B4, "Yes", "No")

.=IF(OR (C3 >=B3, C4>=B4). "Yes". "No")

I gten THIG 81 & 916 379 37R 39S 3=t 3 7iiar o= &1 fAofy fan | Uit o e R Jrdr-far = enuet 3= sl &
Y S A 3 & [ $8 Ud 3@ (9 Teg-uad Sistie 5d)

R S

A B c D
AGH AAWD | dRdidd | A Ued
il Rdeid RIIG RG] @Ieh
Tig@rE J8®E 1) 5
2 ma% 2 3
3 [Ferafdy 3fd 70 68
4 ||sifam ulien s 75 77

g PO i Tud HTal-fOar &1 Had wie ot [Kd1 8 (@aa geamafy 3@ g ifay ulien & 3id 3t Ud IS 8) | T T
g%v—;r«qﬂagﬁqmsﬂqﬁammwéﬁaimmm o YR B eb | o1 1Y AU ¢ uRomdi 9 3= iz & 9y o

1.=1IF (C3 > = B3, IF (C4 > B4, BT, 7Igl). &l
2.=1IF (AND (C3 >=B3, C4>=B4). BI', -Tgl")
3.=1IF (C3 : C4>=B3 : B4, '8i". gl

4.=1F (OR (C3 >=B3, C4>= B4), BT, gl

1 (Chosen Option)
1 (Chosen Option)

o o o O
ERWW NN

Question No. 17 / Question ID 1736 Marks: 2.00




Given below are two statements:
Statement I: Due to climate change. Arctic sea ice is significantly thinner now than about a century ago

Statement II: Due to climate change. tropical regions have warmed much faster than rest of the world.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement I is incorrect
4. Statement I is incorrect but Statement II is correct

BIEEALAIC AT R I

HYF 1 : AT IRGAH S BRI IR YT T 57 T U Warsd! gd 31 qa1 7 31 3rafiis 7e 81 7S ¢
FYF 1 : TAaR] IRGcH &b BRUI Y fay BI el SUBieata &7 sifte g 1fa 9§ RA gU B

SR YA & 3l H, 1 AT T fdbedl § F Y68 Iugad IR DI I8 Difog|

1. DY 1 3R 11 F1 98 &
2. PYT 1 3R 11 1 TTad &
3. PYT 1 U8l 5. Afh- YT 11 7Tad ©
4. FYF 1717 8. Al PUA 11 T8 &

1 (Chosen Option)
1 (Chosen Option)

o ©c O O
AR WW NN

Question No. 18/ Question ID 1730 Marks: 2.00

Which of the following arguments commits the fallacy of contradicted middle such that the middle term. instead of being pervaded by the
presence of the major term. is pervaded by the absence of the major term?

1. All things are non eternal because they are knowable.
2. Sound is a quality because it is visible.

3. Fire is cold because it is a substance.

4. Sound is eternal because it is produced.

Frafafea & 9 frw gfea & comardt mrer b S 59 UaR § % 0e ue 4o ue o1 Iuflufd R oo 8 &t 99 5% Ug @t
ST GRT ST §Idl 82

1. o Seg IRIya S Fife A 3T
2. a7 U@ 01 € if T8 T BT ©
3. i et gt § i 78 5oy uerd §
4. &9 MY Bt § TP T8 S gl §
©1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 19/ Question ID 1717 Marks: 2.00




S T S0 PR ®. d IR H G U B

When people metacommunicate, they are sending messages about

1. Senders 1. T
2. receivers 2. yTehd

3. Channels 3. HILOH
4. Messages 4. g
Ol
1
O 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 20/ Question ID 1725 Marks: 2.00

A passenger train running at the speed of 75 km/hr leaves the railway station 9 hours after a goods train leaves and overtakes it in 6 hours.
The speed of the goods train is

1. 35 km/hr
2. 32 km/hr
3. 30 km/hr
4. 28 km/hr
=
O 1
1

(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 21/ Question ID 1719 Marks: 2.00

Given below are two statements:

Statement I: There is an argument that the emergence of cable and television audiences has brought in more personalised and interactive
media culture.

Statement IT: Within an integrated communication system. messages do not acquire communicability and socialisation.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

BIEEALIC AT ) 1
gﬁﬁr:@gﬁr%ﬁiaﬁa 3R THifae & axie! & sifaufa 9 it dafdas SR of: fharae Hifsa Spid 31 Fed g5
|

FYF I : THIPd TN YU o HfiaR G & Sowolierr $iik GamsiieeR 761 8l & |
IR YA D a4, i fau 71U fasedi § 9 981 SR &1 99 Difed|

1. YT SR SHI Ia &

2. BY 1 AR I A

3. PYT 1 I B, A YT 11 3 ©
4. PYT1 ITI L. AP PYUT I T ©




NN P

3 (Chosen Option)
3 (Chosen Option)
4
4

o O O C

Question No. 22/ Question ID 1731 Marks: 2.00

When you sign up something like a free e-mail account, you may be presented with a CAPTCHA. the most common form of CAPTCHA
is an image of several distorted letters. CAPTCHA stands for:

. "Coverage Analysis and Planning Tool for Computers and Humans Apart."

. "Completely Automated Public Turing test to tell Computers and Humans Apart”

. "Completely Applied Parallel Technologies for Communication and Hardware Apart".
. "Comparable Additional Protected Turing test to cell Computers and Humans Apart".

Glaamﬁ AT @1 o [l giau o WieR $d &, dl SUe GHa TP Sl (NUIEIT=n) U] faar o 9odi 5 |1 39
TR =Y 3 fad SRl 1 s 3 81 o s Fg A w

= o =

1. Haxel TR TS @I ¢d BR Sy US ggHd e

2. Befieet SEIARS ST 3% T 29 dued US §gnY SfuTe

3. Piledl TREs WRad caHiamiy PR HRIHGIH US TsadR SUie
4. HRTA TSI Wiefdes SR ¢ ¢ ¢ dyed US ggHd 3Ure

(Chosen Option)
(Chosen Option)

o ¢ O O
ERWW NN RE

Question No. 23/ Question ID 1733 Marks: 2.00

Given below are two statements:
Statement I:A binary number that ends ina 1. e.g 110011, is always an odd decimal number.
Statement IT: HTML is a set of rules that must be obeyed when transferring files across the Internet

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

9 A Py U MU E:

HYTI1: 1 T GHE B aTal fg 3Rt Te, 318’01 & =4 H 110011, SHLT U [99H S¥HTa T=01 8id1 81
HYF 11 : HTML Il o717 92 § forap! Sexe R Wiz RIFARd $Rd S5y 3Ha<y Ure fodl S 91Ul
SWRIT HYH & 3Heliep §, 4 iU 7Y fdebedi § I T8l IR P1 99 Hifo|

1. BYT1 IR 11 aF 9 &

2. PYF 1 AR 11 ST T &

3. PYTI I 8. AP YT 11 3T ©
4. YT AL, AP PYT LTI S

1 (Chosen Option)
1 (Chosen Option)
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Question No. 24 / Question ID 1715 Marks: 2.00

Given below are two statements:
Statement I: A dichotomous variable is the one which has more than two categories.

Statement IT: A nominal variable can have more than two categories.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4. Statement I is false but Statement II is true

9 A Py U MU E:

PYFI : fguroll R <1 9 31 Sfori gicit 8

PYF I : THd TR A &1 9 1P 40w g1 gl &1

TR DY & 3M1aiie H, 1= fau 7Y [dedl § F el IR &1 99 Difeu|

1L PYFAIAR NG 9a 8

2. PYF 1 AR I G T &

3. PYT 1 I 8. A YT 11 3T ©
4. YT IR, AP PYT I T §

1 (Chosen Option)
1 (Chosen Option)
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Question No. 25/ Question ID 1742 Marks: 2.00

The Education Despatch of 1854 suggested that the medium of instruction in Indian Universities should be

1. Persian

2. Sanskrit
3. Hindi

4. English

1854 & Ui fouta & g e ma o1 & YRt fayfaemel & sr¢H &1 H1eqd g8 1T gt aifed|

1. BRE!
2. 9&pd
3. l%él
4. 3TH
O 1
1
() 2 (Chosen Option)
2 (Chosen Option)
O 3
3




O 4

Question No. 26 / Question ID 1728 Marks: 2.00

Which informal fallacy is committed in the following statement- "American Indians are disappearing. That man is an American Indian.
Therefore that man is disappearing"?

1. Red Herring

2. Hasty Generalisation
3. Begging the question
4. Fallacy of division

mmgﬁﬁwmm%aﬁq%- "3Efket URdT faqw 81 ) €1 98 afdd smRet yRdia 1 59 forg o wafd
TR

1. 38 g
2. Jffa=TRa NS0T
3. ATEIYT Y

4. foug am

o o0 O O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 27 / Question ID 1709 Marks: 2.00

The teaching that provides all students with challenging instructions and uses supports when needed but removes those supports as
students become able to handle more on their own is called as :

1. Recessive teaching

2. Active teaching

3. Adaptive teaching

4. Problem-oriented teaching

T Reror &1 o gl el § o Tt S &1 AU e fau ofd € SiR SaxudauR JgTadl WalH & offdl . T g
B Wd 37 Tt &1 GHEH § G&W 81 O1d 8. 99 YeTadl gel o oIt g

1. G fReqor
2. Tfepy Ryegor

3. SIpaTID e
4. GHATRS R0

o O O O
WWNN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 28/ Question ID 1706 Marks: 2.00




Which of the following are the interrelated phases created by John Keller for stimulating and sustaining learner's motivation in the
teaching and learning process?

A. Attention
B. Authority
C. Relevance
D. Confidence
E. Satisfaction

Choose the most appropriate answer from the options given below:

1. A.C.D and E only
2.B.D and E only

3. A. Cand D only

4. B and C only
ﬁgﬁiﬁ@ﬁﬁ;ﬁm@ﬁr&m 3R 3T wfshan § sHferTHedl & TR Bl §gH SR ST 3| & Iy SiiH Har gRI Jford R
Hefed TRU 8?2

A &H

B. IR
C. U@ dn
D. ATHAGY™
E. gdiy

i feu 7Y faseul § 9 9a8 Suged SR &1 99 Bl |

1. PAAA. C.D IR E
2. $ad B, D 3R E
3. PAAA. C3RD
4. PaAB AR C

1 (Chosen Option)
1 (Chosen Option)
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Question No. 29/ Question ID 1744 Marks: 2.00




Find out the chronological order of the following open universities i India.

A. Karnatak state open university

B. Netaji Subhash open university

C. UP Rajarshi Tandon open university
D. Madhya Pradesh Bhoj open university
E. Nalanda open university

Choose the correct answer from the options given below:

1. A;BiD,C;E
2.E.D,A,B,C
3:B; C;E;DyA
4D.E.A.B.C

R4 ¥ FafeiEd gad fayfdaredl & Sred & SUR hHaS Biod |

A. Ple® Jea g fayfaemaa

B. 31 it {1y Yo fagfaemea

C. IR USRI WY ¢34 gad fayfaemea
D. TeYSR HIsl o fayfaared

E. ATia1 go fagfaemea

i feu T fomedl O T ggt SR &1 99 difd|

1.A.B.D.C.E
2.E.D.A.B.C
3. B, C;E; DA
4.D.E.A.B.C
01

1

(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
O 4
4

Question No. 30/ Question ID 1729

Marks: 2.00

Identify the formal fallacy committed in the following argument: "Some good actors are not powerful athletes . All professional wrestlers

are powerful athletes. Therefore all professional wrestlers are good actors".

1. Exclusive premises

2. Existential fallacy

3. Affirmative conclusion from negative premises
4. Affirming the consequent

afead gfekt & fopd 1 TR Tehaly B UgdH DIIG: "$B S SATH-dl kel TUdie 781 § | 9l srqaids ygdar

wifgaemet Tydie § | 3afau gt araaiiie geaa 3= ftEarel”

1. TGAP YR 15
2. AT RS dF AN
3. FYYTHS YR 919 I GHRIAD 5y
4. Boarad [y gy

(Chosen Option)
(Chosen Option)

c O O O
BRWW NN RR

Question No. 31/ Question ID 1723

Marks: 2.00




Ifx = 0.25 and y = 0.16. the value of the expression — + \/ X 4 ’ Y —X)is
X

.0.6
.08
.0.45
.0.58

g x = 0.25 3R y=0.16 3 Il D L4V \y — T A R

N

1.0.6

2.0.8

3.0.45

4.0.58

o1
1

(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
O 4
4

Question No. 32/ Question ID 1724 Marks: 2.00

If A, B and C can complete a piece of work in 3.5 and 6 days respectively. they together will complete the work in

)
(4]
SN

(=N

0
b

w

(%)
|
o,
2
<
w

4. 2% days

1 (Chosen Option)
1 (Chosen Option)

A Www NN

Question No. 33/ Question ID 1734 Marks: 2.00




Identify the correct order of the terms A-E to complete the paragraph about MAC addresses and IP addresses given below.

A MAC address is a media access address. A network device has a MAC address that can help the device in the

network. An IP address is an Internet

A. Protocol
B. Control
C. Dynamic
D. Identify
E. unique

Choose the correct answer from the options given below:

o
WP 0w
™ @ 1 O
OUmo o
b
aNn W

=

TR U5 G SRyl UgH & HaY B (9 Tl & IR 33 & AU A - E 9a1 & Ugl hH &1 UgdH Do |

TR T3 U Hifsan sifim U39 B Aead gfad B UD THUE TS §Id1 § ol Hedd | giad Bt
T GEadl IR I&Hdl g | 3sYl Uod U sec TS Bl Myl TSy fRR fuar g gTar gl

A. TOER (VeiPid)

B. gz
c. e

D. UgdlH
E. faRy

=i AU ¢ fasbeul & T I51 IR &1 994 DIl |

o=
WP 0w
M w0
UmP g
PP
N W

o

address. An IP address can be static or

o o o O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 34/ Question ID 1714

Marks: 2.00




Given below are two statements:

Statement I: The risk of rejecting the null hypothesis when it should be confirmed. is more at 0.05 p-level than at 0.01 p-level

Statement IT: The risk of committing a type-I error is lower at 0.05 p-level than at 0.01 p-level

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

2 < Py feg MU B
FYTI : I RS D1 IfP 5T T & T I SRATBR B BT AIRIGH 0.01 p-FR DI a1 H 0.05 p-TR TR P g g |

YT 11 : TISU-I FfT B BT OINEH 0.01 p-KR B ga1 H 0.05 p-TR R PA G 6
SWRIdd YA & 3l H =1 AT T fgeedi § 8 el IR &1 989 DI

1. YT SR SHI Ia &

2. BY 1 SR 113 3 S

3. PYT 1 9 B, Afpd PYT 11 3T ©
4. PYT1 IR, AP PYUT I T ©

O 1
1

O 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 35/ Question ID 1722 Marks: 2.00

In a certain coding scheme . "WOMEN' is coded as '65'. How will the 'CHILDREN' be coded in this scheme?

. 178
. 143
. 116

78
Tt peca IeHT H, 'WOMEN' &1 '65' & ¥4 H $exiad g1 71 8 | 'CHILDREN' &1 59 Aol H &d Heiad faha Sgm?

:kaul\)’—‘

. 178
. 143
116
78

o =

P

4 (Chosen Option)
4 (Chosen Option)

o © O O
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Question No. 36 / Question ID 1727 Marks: 2.00




Given below are two statements:
Statement I: A valid deductive argument that also has all true premises is called a "sound" argument.

Statement IT: A strong inductive argument that has all true premises is called a "cogent" argument.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct

i < pae RRu M &

HYF1 : I8 99 HTES giaa, Forgs it SUR a19g I 814 ©. S Ifad pgan g
Y11 : T8 €¢ ANTHAIED gfaa fored It STYRATR 9 §1d 3. 9d' gfad pedldi o
SR Y & 3l H, i AT 7Y fddbedl § § Y68 Iugad IR DI Ig- Difog|

1. DY 1 3R 11 H1 T8 &
2. BYF 1 3R 11 31 T &
3. PYT 1 T8I 5. Afh- HYF 11 7Tad ©
4. Y 1770 B, Al HU 1 T8 &

1 (Chosen Option)
1 (Chosen Option)

o © O O
AR WW NN

Question No. 37 / Question ID 1718

Media interactivity is experienced at different levels in different relations.

1. Political

2. Economic

3. Techno-social
4. Techno-ethical

fafia e F fafte wRi iR Hifsa sia-fraraear sryd gl |

(Chosen Option)
(Chosen Option)

AR WW NN PP

Marks: 2.00

Question No. 38/ Question ID 1712

Marks: 2.00




When participants drop out of a study. leading to change in the nature of the sample. it would cause which of the following threats to
internal validity?

1. Selection threat
2. Attrition threat
3. History threat
4. Testing threat

g gyl fdt srena @ §ta 1 €1 918R 81 9id &, o ufdest & W=y o ufkad= 81 oran &, df 399 3iiaRe® duar &I FafaiRad
Y B I GRT & Thdl 82

1. 99 g @ax1
2. U] e e GarT
3. gfder gt @
4. TRIU1 Ja et FeRT

1 (Chosen Option)
1 (Chosen Option)

c O © O
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Question No. 39/ Question ID 1710 Marks: 2.00

Given below are two statements:
Statement I:Metacognition is the understanding about one's own use of language.

Statement IT: Mnemonics is the knowledge about our own thinking processes

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct

2 < Py feg MU B

FYF 1 : A (HTHIUR) S0 g UTSI-JGHT &1 903

FYF 11 : T AT o1 1 e BT ufcha1 1 94 81

IWRIE DY B 3l |, i 3T T faedl & I a9 Sugad SR DI 99 Biforg|

1. BYF 1 3R 11 GF1 98 &
2. BYF 1 3R 11 31 Tad &
3. PYT 1 T8I 5. Alh- HYF 11 7Tad ©
4. PYT 17T ©. Afp HYT 11 Tel o

1 (Chosen Option)
1 (Chosen Option)

o C O O
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Question No. 40/ Question ID 1711 Marks: 2.00




Given below are two statements:

Statement I: A Cohort is a population whose members have some specific characteristics in common.

Statement II: In a prospective study . the researcher relies on people's memories and recollections of the past.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

BIEEALIC AT R I

FYT 1 : TS (BIGIC) T8 -] § ordh Jai § $o iy ifiaeor ¥oH sl g |
YA 11 : HiTSTael sieg= 8 srdyHaal arl &1 Wasi 3R SFeR R MR Ear gl
SWRIdd YA & 3l H, 1 [T 1Y fawedl § I el TR &1 99 DI

1. YT SR SHI Ia &

2. BY 1 SR 3T A S

3. PYT 1 9 8. A PYT 11 3T ©
4. PYT1 ITIR. AP PYT I T ©

1 (Chosen Option)
1 (Chosen Option)

o © O O
AR WW NN

Question No. 41/ Question ID 1721

Determine the next term in the following number series =1 m o et U JTd Ty

3,15,3563:2 005 3,15, 35,632

. 89
91
.99
. 106

O
—
o —

—
(=)
[=)}
W

3 (Chosen Option)
3 (Chosen Option)

Marks: 2.00

Question No. 42/ Question ID 1737

Marks: 2.00




What 1s the correct increasing order of the contribution to the global warming by the following gases?

A. Methane (CHy)
B. Carbon Dioxide (CO,)
C. Nitrous oxide (N,O)

Choose the correct answer from the options given below:

B W e
ww A
QPP w
B0 wn

afye amH & FHefeafad TG & dreE &1 961 3RIg $H SH-a1 82

A. T4 (CH,y)
B. BT SIEAHIRIES (CO,)
C. ey HTHISS (N,)

=i feu TTe fasedl § 9 981 3R &1 98 BIfoig:

o —
@ WO p

WW NN R ():l>:(>u:j
B 0wn
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c o O C

4 (Chosen Option)
4 (Chosen Option)

Question No. 43/ Question ID 1713 Marks: 2.00

According to UGC Regulations 2018 on plagiarism. common knowledge or coincidental terms. up to how many consecutive words shall
be excluded while checking similarity for detection of plagiarism

el S
— 00
[T S B8]

4

Hifefde IR, TEH I IR G sal & aR J ol [af-94 2018 & IR, Wil 9R1 BT 9al 1 & 1T FHMH B
Siie PR IHY fbe- ShHFT sl Bl aTeR (TS fbar s

ol il
— = — 00
[T S OS]

(Chosen Option)
(Chosen Option)

c O O O
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Question No. 44 / Question ID 1707 Marks: 2.00




The process of comparing a student's performance against his/her previous performance is known as:

o =

. Diagnostic evaluation
. Summative Assessment
. Ipsative Assessment

3
4. Informal Assessment

1 (Chosen Option)
1 (Chosen Option)

c O O O

ArDh wWww NN

Question No. 45/ Question ID 1735

Match List I with List IT

(Security or data loss issues)

(Methods of data recovery

or protection)

. [Data loss caused by hard disk crash

1.

Anti-spyware software

Introduction of software that self-
replicates and can cause data loss

IL

| Anti-virus software

reading of 1llegally accessed
documents

I

Back-up files

Software that records all key
. lpresses on your computer without
[vou knowing

V.

[Encryption

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I
2. A-L. B-II. C-IV. D-III
3. A-IIL, B-II. C-IV. D-I
4. A-IL B-IIL. C-IV. D-I

it 1 % 1Y Yl 11 D1 A DIy

Marks: 2.00
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(TR a1 STt 7e)
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I
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. |08 T dR $1 GH:RITTHT S Td GIeidl & AR SCI&d B Ybdl &

1.

AT g e diR

3738 HITH aTdl Geardall & UIe

11 [§®
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_ [C9 9T aIR Sl US| THBRI §7R Hh SRR IR Gals T3 TA® Poil B RIS Bl g

V.

CARIEELY

= fau U fom el § ¥ I8! SR &1 994 P |

1. A-IIL. B-IV. C-II. D-I
2. A-L. B-II. C-IV. D-III
3. A-IIL. B-IL. C-IV. D-I
4. A-II. B-III. C-IV. D-I
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

O

A OW

O

Question No. 46 / Question ID 1748

Marks: 2.00




Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores, which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

"Revisit speed limits" means

. Speed limits will be revised.

. Speed limit will be re-assessed.
. Speed limits will be reduced.

. Speed limits will be increased.

fAfaRad T &1 eFgd® ufeu 3R 39 -4 U T¢ 94 & IR Gifer|

RTE [AUTT U TS GR&M SR Y DA B1 o] &1 361 § forgd RIF Hard S 99, 96k GauR®. Wl a9 iR
FYTl & AT e g1 | 39 A & T YT & U § Saniier] ghems @1 agdl S8 &1 AP+ & o7y g anll o
FaeHd Y FIeH1E S8 |

g5 Uiy TP ORI 310 & SR 98 UIL ofH & &14, o1 7141 o1 7 geaitial o sifties Ream ard &1 o fa 3ol Al =l
SR AU R Y ToRA aTdl 95 Wol U gueIs S i Jura- i

TP aRE HSRI = Fa11 o TS GRaf AT B & (oY sirafed BRisl =0l 1 HiE! 1 Suai 8 foar S @1 | SRl
3 gam & rgeers @ siftfe YUTa-1 aTdl RIF! (&P Wic) $I UgaH BT R a8 gUeANd AP+ P U BT, T T3] B
THIE PRAL TSP GR&T FAa! B TG DAL gVl VT TR T3S HHR VAT BALL gAHE B ITUNT B WicIed DAL, D
SIREH arel RIF] WR 71 $H BIAT SR, &1 I SHf¥d dg qiiviodd argHi @l [aaiid $- IR &H Si-sd [l [ |

16X B TATTd e GRT GaR $I 115 e oh=1 KU 2021 & IR a9 2021 & Gt § o5& 31l & DRV P 1239 AT
D1 AId gs o (IS a9 gs 1196 Tl I P ¢ | Fo didl T U 40% I e Aid gganal o1 g3

- W o =

viifq draraf ot geiten S o1 3 8-

1. 7fq Ararsii | deie foean s

2. TTfd a1l 1 Y: 3 fohar Sme|
3. 71 13t @t ®F foar S|

4. 71fq 1131 DI Fra1 S|
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4 (Chosen Option)
4 (Chosen Option)

Question No. 47 / Question ID 1750 Marks: 2.00




Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores, which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

Given below are two statements:
Statement I:The focus of the passage is on making Delhi roads safer.
Statement II: Funds worth crores meant for ensuring road safety have been properly utilized.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct
. Both Statement I and Statement II are incorrect
. Statement I is correct but Statement II is incorrect

o —

w

e

. Statement I is incorrect but Statement II is correct

fafeRad TeIi &1 Y gfeu 3R 39d - fau 7Y 94 & SR aiforg|

IRaE faUFT T 5o TRAT S e B D1 IS 51 38T © foras R Farit e 49, §1oR RdUR®, Well 8= 3R
TS & FaA i 8171 59 SifaM & U UM S &0 8 SamiieR] ghes] &1 agdl S B A+ & [0y RIHG arll st
FaeEd ¥ FieH1d S |

g5 (U1 U BRI 2909 S GRIF 8 UIT S & d1& o1 741 o1 3 ueantal &t siftie G aTd &1 oY i Wpa. Al !
3R T Rl ¥ ToR- a1 TSP Wo! IR GUeHIsH BI Sifid JuTa-m |

& ARy PRI A §a/l & G5 GRa YHAET B & Y sidfed dRisl &9d 31 Higl o1 Iuai 78] fbar o1 @1 31 SRy
3 gam & geers B it UG- aTel RIF! (&1 Wic) BT UgaM BT R g1 GUANd AP+ P U B T T3] B
FHIET PRAL TSP Y& FAa! B T3 PRAL gl R TR T3S HH VAT BALL gTHT B ITINT DI WicIed DAL i
SR aTel R UR 710 &8 BT IR, &l 9 e e anfoifous are-i @ fafHafid ®x- W &IH Si-xd foar e |

T1ER P 1T e GRT daR $I 715 foeei! o=l RUIE 2021 & IR a9 2021 H Gl § o5& 3ff & SR P 1239 AN
1 1 g3 off Ul a9 g5 1196 AIdl ¥ 3@ g1 Pa Ardl T U 40% ¥ 31 Ad gl 31 gg

B A CAIEACARRI

BYF 1 : TN BT S5 fag el &1 TSB! B GR&d S 8

YT I1 : 5P Y& AT B3 & [ srrdfed sRIsi wudl o1 FHival &1 ggfd sugi o man g
IWRIEd DY P 3l |, i 3T 1Y fapedi § I I8 Iugad SR DI 90 Bifoig:

1. BYAI AR 1 aH Tl
2. BYF 1 3R 11 1 Tad &
3. BYTI eI 8. AP HYT 11 Tad
4, DY 17T 8, Al HU T TE1 &

(O 1 (Chosen Option)
1 (Chosen Option)

O 2
O

ww N
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Question No. 48/ Question ID 1747 Marks: 2.00

Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores. which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021. which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

Fill in the blank with the appropriate option:

The number of deaths due to road accidents from 2020 to 2021.

1. Declined

2. Remained the same
3. Increased

4. Decreased

il TeriY 1 erFYde ufet SR 39 = iRy T usi & SR diful

TRaE faUFT T Tsb TR&M ST e B B A1 51 381 © ors R Farit e 49, §16R RdUR®, Well 8= 3R
FoTl & HfaTY e g1l | 39 3 & U Y1 & U § Sariier] ghemsi @1 agdl S8 &1 e+ & o7y G il o
FaeEd ¥ FieHd S |

Tg (0 U WRERY 3100 & SR 98 IS 9 & a1 o mar o1 & ueanfiat ot sifte e ard aFt o fos wpal, At Rt
R aIvS® el ¥ oA ald G5 @o! IR gHeAIs B Siftd GG off|

& ARy PRI = §a/l & G5 GRa YA B & oY sidfed dRrsl &9d 31 Higl &1 Iuai 78! fbar o1 @1 31 SRy
3 gam & geers B it TG aTel RIF! (&1 Wic) BT GgaM BT SR g1 GUeANd AP+ P UG B T T3] B
THIE PRAL TSP Y& FAa! B T3 DAL gl VI TR T3S PH VAT BALL gTHT B ITUNT DI WicIed DAL i
SR aTel R UR 10 &8 =T 3R, & 9 3 @e qmfoiious areHi @ fafafid ® W &IH Si-xd foar e |

6 &1 AIATATd g §RT GOR &1 718 fGaeil ol RUIC 2021 & 3FER a8 2021 H el & 958 3ff & SR Fd 1239 A
1 1 g3 off Ul a9 g5 1196 AIdl ¥ 3@ g1 P Al T U 40% ¥ 31 A gt 31 gg

e M W 3ugH fwed 1R af 2020 § 2021 G5 YSB gHerA13N & HRUgS Hidl B e .

1. § fiR1ge anms |
2. U6 GHHE &L |

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 49/ Question ID 1749 Marks: 2.00




Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores, which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

" Black spots" are areas

1. that have been blackened.

2. that have no light.

3. where a lot of accidents happen.
4. that are busy.

fafRad T &1 ergd® ufgu 3R 39 -1 U T¢ 94 & IR Sifore|

ORas fUFT U6 IS5 FR&M A B B B AT 41 361 ¢ ot R Hard e 99, aeR fauR®. Sl 8= 3R
TS & WA M g1 59 S & U YT & F0 § NaifieR! gueis @1 ggdl 981 31 AP+ & g RIHG arll Bt
FaeEd Y FIeH1d S |

gg (U U WRBRT 3298 B GRIF 8 UIT S & 1 forn 71 o1 S uaanial &t siftie Gt aTal &1 oY fob Wpal. il 1
SR Ao Rl ¥ ToR- a1 ISP Wo! IR gucIsH B i JuTa i

T aRy PRI A 9ar [ Ts5® QRe YA oA & g sdfed sRrsi wua ot Rl &1 Suah =81 fear w1 @1 31 st
g fb rgede-rsll @ il YuTa- arel RIFI (1% Wie) B Ugdl DAl SR a6l gueAId A P IURI AL T arsi Bt
e PHRAL TSP GR&M FAa! BT TS DAL gl M TR T3S HHRI RITUT HALL gTHE B ITUNT B Wicied DAL, D
TNREH arel RIF! 0 71 $H BAT SR, &Hd1 I @ TG qiivicdd argHi @l [aaid $- R &H Sisd [l [ |

ER I AT e GRT R B 7T foei! $h RUIE 2021 & AR aN 2021 ¥ (el & 958 31l & BRI Hd 1239 AT
Pt Hid g3 ot foea a8 g8 1196 Tial I fid 81 pa didl F F 40% I 1fis did geafIal a1 g3 1

1. forg ret &1 § o femn man g1
2. e Wb Tl &1
3. gt eifiras gefeTy St B
4. S sy i
O 1
1
O 2
2
3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 50/ Question ID 1746 Marks: 2.00




Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores, which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

The Government study found that areas that were more accident prone were

1. Main roads

2. Peripheral roads

3. Highways

4. Pedestrian-heavy areas

fafaRad T &1 eFgd® ufeu 3R 39 -4 U T¢ 94 & IR Gifer|

RTE [AUTT U TS5 GR&M M Y DA B1 o] &1 361 © forgd RIF Harf S 99, 96k GauR®. Wl a9 8k
JYTl & AT e g1l | 39 A & U6 YT & U § Sanier] ghers @1 agdl S8 &1 AP+ & o1y IHE arll o
Faed Y FieH1g S8 |

g5 MUl U RORT 310 & SR g8 UId ofF & &14, o1 7141 o1 7 geaitial o siftie Ream ard &3 o fa pal, Ae) Hl
SR IO R Y ToRA aTdl 95 Wol W gueIs B i Jura- i

TP IRE HSRI = Fa11 o TS GRaf AT B & (oY sfrafed BRisl =0l 1 Hid! 1 Suai 78 foan S @1 5| SRl
3 gam & rgeers @ siftfe YUTa-1 aTel RIF! (&P Wic) B UgaH BT R 81 GUeATd AP+ P U BT, T 13 B
& PRAL. TSP YR&T FAa! B T3 PRAL HgdUl R TR T3S HHRI VAT BALL gaHE B ITUNT B WicIed DAL, D
SIREH arel RIF! OR 71 $H BIAT SR, &1 I e dg aifviodd argHi ol [aaiid $- IR &H Sisd [l [ |

16X B ATATd G GRT GaR $I 715 e =1 RUIE 2021 & IR a9 2021 & et § o5& 31l & DR P 1239 AN
D1 HId gs o (IS a9 gs 1196 Tl I i@ ¢ | $o Aidl H U 40% I % Aid ggaial o1 g3

WPR AT P SHHR FHfIad § 4 B 9 &7 gue $I st JuTa- ard 87 22

1. 50 g5

2. URHg 986

3. oA

4. U1 i 3ifde T ard &9

o © o O
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4 (Chosen Option)
4 (Chosen Option)

2) PART B Subject Paper

Question No. 1/ Question ID 87052 Marks: 2.00




Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Validity checks real need of system users
Reason R: Completeness checks system user defined requirements.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R 1s true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Validity checks real need of system users
Reason R: Completeness checks system user defined requirements.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

1 (Chosen Option)
1 (Chosen Option)

o © O O
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Question No. 2/ Question ID 87062 Marks: 2.00

Consider the following statements about heap sort algorithm:

A. The MAX-HEAPIFY procedure which runs in O lg (») time. is the key to maintaining the max heap property

B. The BUILD-MAX-HEAP procedure. which runs in O lg (n) time. produces max-heap from an unordered input array
C. The MAX-HEAP-INSERT. which runs in O (Ig ) time . implements the insertion operation

D. The HEAP-INCREASE-KEY procedure runs in O (n lg #) time . to set the key of new node of its correct value

Choose the correct answer from the options given below:

1. A. B only
2. A.Conly
3.B.D only
4. A.B.C.D
Consider the following statements about heap sort algorithm:

A. The MAX-HEAPIFY procedure which runs in O Ig (#) time. is the key to maintaining the max heap property

B. The BUILD-MAX-HEAP procedure, which runs in O Ig (n) time, produces max-heap from an unordered input array
C. The MAX-HEAP-INSERT. which runs in O (lg #) time . implements the insertion operation

D. The HEAP-INCREASE-KEY procedure runs in O (n lg n) time | to set the key of new node of its correct value

Choose the correct answer from the options given below:

1. A. B only
2.A.Conly
3.B.D only
4. A.B.C.D
O 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
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Question No. 3/ Question ID 87084 Marks: 2.00

Consider universe positive integer X= {1 <n < 8}, proposition P="n is an even integers", Q="(3<n<7) »(n#6)". Then truth set of P
—Qis

. {1.4}
. {2.6}
. {3.4,5}
4. {1}
Consider universe positive integer X= {1 <n < 8}, proposition P="n is an even integers", Q="(3<n<7) »(n£6)". Then truth set of P
—Qis

wW o =

{14}
. {2.6}
. {3.4.5)
{1}

1

1

O
O 2 (Chosen Option)
O
O

Lo =

F SOV

2 (Chosen Option)
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Question No. 4/ Question ID 87007 Marks: 2.00

Let (Z. +) denote the group of all integers under addition. Then the number of all automorphisms of (Z.+) is

e S

1
2
3
4
Let (Z. +) denote the group of all integers under addition. Then the number of all automorphisms of (Z.+) is

o —
o

v
NSV §

(Chosen Option)
(Chosen Option)
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Question No. 5/ Question ID 87010 Marks: 2.00




Match List I with List IT

LISTI LIST II
. [PERT I. |used for non repetitive jobs
. |Optimistic time | II. |Used for repetitive jobs
CPM III. |The shortest possible time to complete the activity if all goes well
. [Pessimistic time] IV. |The longest time that an activity takes

o|o|w|=

Choose the correct answer from the options given below:

1. A-lll B-IV C-Il D-I

2. AV B-l C-ll D-lII

3. A-l B-lll C-Il D-l

4, Al B-Ill C-Il D-IV
Match List I with List IT

LISTI LISTII
. [PERT I. |used for non repetitive jobs
. |Optimistic time | II. |Used for repetitive jobs
CPM III. |The shortest possible time to complete the activity if all goes well
. [Pessimistic time] IV. [The longest time that an activity takes

o|o|w|=

Choose the correct answer from the options given below:

1. A-lll B-IV C-Il D

2. AV B-l C-ll D-llI
3. A-l B-lll C-Il D-l
4, Al B-Ill C-Il D-IV

O
O
(Chosen Option)

1
1
2
2

(O 3 (Chosen Option)
3
O 4
4

Question No. 6 / Question ID 87047 Marks: 2.00

Which of the following is used to determine the cost performance index?

1. Budgeted cost of work performed-budget at completion

2. Budgeted cost of work performed-+budget at completion

3. Budgeted cost of work performed-+Actual cost of work performed

4. Budgeted cost of work performed-Actual cost of work performed
Which of the following is used to determine the cost performance index?

1. Budgeted cost of work performed-budget at completion
2. Budgeted cost of work performed+budget at completion
3. Budgeted cost of work performed+Actual cost of work performed
4. Budgeted cost of work performed-Actual cost of work performed

o o o O
WWMNN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 7/ Question ID 87048 Marks: 2.00




1s intended to show that a system both conforms to its specifications and meets the expectations of the system customer.

. Software specification
. Software design
. Software evaluation
. software validation
is intended to show that a system both conforms to its specifications and meets the expectations of the system customer.

s o =

. Software specification
. Software design

. Software evaluation

. software validation

o =

- W

o o O O
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4 (Chosen Option)
4 (Chosen Option)

Question No. 8/ Question ID 87077 Marks: 2.00

A TCP server application is programmed to listen on port P on host S. A TCP client is connected to the TCP server over the network,
Consider that while TCP connection is active the server is crashed and rebooted. Assume that the client does not use TCP keepalive timer.
Which of the following behaviour/s is/are possible ?

Statement I: The TCP application server on S can listen on P after reboot.

Statement II: If client sends a packet after the server reboot. it will receive the RST segment.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
A TCP server application is programmed to listen on port P on host S. A TCP client is connected to the TCP server over the network,

Consider that while TCP connection is active the server is crashed and rebooted. Assume that the client does not use TCP keepalive timer.
Which of the following behaviour/s is/are possible ?

Statement I: The TCP application server on S can listen on P after reboot.

Statement II: If client sends a packet after the server reboot. it will receive the RST segment.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1 (Chosen Option)
1 (Chosen Option)

c O © O
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Question No. 9/ Question ID 87041 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: I/O protection is ensured by a hardware trap

Reason R: I/O interrupt caused by the condition like I/O completion and device malfunction occuring within the I/O devices

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: I/O protection is ensured by a hardware trap

Reason R: I/O interrupt caused by the condition like I/O completion and device malfunction occuring within the IO devices

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

O 1
1

O 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 10/ Question ID 87065 Marks: 2.00




Match List I with List IT

LISTI LIST II
A. [Parallel FET L o (nz)
B. [lterative FFT I |O(n)
C. [Evaluation of polynomial at n points by Horner method I | © (lg }7)
D. | Product of two polynomials that are represented in point value form| IV. | © (n 1 g n)
Choose the correct answer from the options given below:
1. A-III B-I C-II D-III
2. A-II B-I C-III D-IV
3. A-III B-IV C-I D-I
4. A-II B-III C-IV.  D-I
Match List I with List II
LISTI LIST IT
A [Parallel FFT L |o (nz)
B. [lterative FFT 1. |O(n)
C. [Evaluation of polynomial at n points by Horner method I | © (lg n)
D. | Product of two polynomials that are represented in point value form| IV. | © (n 1 g I‘I)

Choose the correct answer from the options given below:

A-III B-I C-II D-III
A-TI B-1 C-IlTI D-IV
A-III B-IV C-I D-II
A-IT B-III C-IV D-I
O1

1

1.
2.
3.
4.

() 2 (Chosen Option)
2 (Chosen Option)

O

DA WOW

O

Question No. 11/ Question ID 87025

Marks: 2.00




Match List I with List IT

LISTI LISTII
A |Bezier curves 1. |3 dim objects that have translation rotational symmetryj
B. [B-Splines II. [Fractal geometry
C. |Sweep representations| III. [Bias and tension
D. |[Natural objects IV Jpainting drawing CAD

Choose the correct answer from the options given below:

1

2
3
4

. A-IV Bl C-lII D-II

. Al B-lil C-IV DAl
. A-IV B-lll C-1 D-lI
+ Al B-IV C-1 D-I

Match List I with List IT

LISTI

LIST II

. |Bezier curves I

3 dim objects that have translation rotational symmetry]

. [B-Splines 1L

Fractal geometry

. |Sweep representations| II1.

Bias and tension

o] fo] los] 2

. [Natural objects V.

painting drawing CAD

Choose the correct answer from the options given below:

1. A-v B-I C-lll D-II
2. A-ll B-lll C-IV D-I
3. AV B-lll C-I DI
4, A-ll B-IV C-1 D-llI
O 1

1
@) 2

2

(O 3 (Chosen Option)

3 (Chosen Option)

04
4

Question No. 12/ Question ID 87060

Marks: 2.00




Given below are two statements:

Let f(n) and g(n) be asymptotically positive functions. The following conjectures are given

Statement I:  f(n) 2 land f(n) = O(g(n))=> g(n) =Q( f (n))

Statement II: f(») =0(g (n)) = lg(f (n)) =()(lg (g (n))) where lg(g (n)) =1 for all sufficient large n.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct
Given below are two statements:

Let f(n) and g(n) be asymptotically positive functions. The following conjectures are given

Statement I:  f(n) 2 land f(n) = O(g(n)) => g(n) =Q( f (n))

Statement II: (1) =0(g(n))=1g(f (n)) =()(lg (g (n))) where Ig(g(n))=1 for all sufficient large n.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II 1s correct
O 1
1
@) 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 13/ Question ID 87040

Consider the following statements:
S1: LRU page replacement algorithm suffers from the belady's anomaly
S2: Shortest remaining time first scheduling may cause starvations

S3: Stack is shared by all threads in a process

. S1 S2 and S3 are true

. S1. S3 false and S2 is true

. S1. S2 are false and S3 is true
. S1. S2 and S3 are false
Consider the following statements:

B O

S1: LRU page replacement algorithm suffers from the belady's anomaly
S2: Shortest remaining time first scheduling may cause starvations

S3: Stack is shared by all threads in a process

. S1 S2 and S3 are true

. S1. S3 false and S2 is true

. S1. S2 are false and S3 is true
. S1. S2 and S3 are false

O 1

B O S

Marks: 2.00




1

(O 2 (Chosen Option)
2 (Chosen Option)

03
3
04
4

Question No. 14/ Question ID 87034 Marks: 2.00

The total cost of retrieving records in sorted order using an unclustered B+ tree is
(P- Average number of records per data page
N- Data pages

F- Ratio of the size of a data entry to the size of a data record)

1. (F*N) +P
2.(F+P)* N
3. F*N*P
4. F+P/N
The total cost of retrieving records in sorted order using an unclustered B+ tree is

(P- Average number of records per data page
N- Data pages

F- Ratio of the size of a data entry to the size of a data record)

1. (F*N) +P
2.(FtP)*N
3. F*N*P
4. F+P/N
(O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 15/ Question ID 87055 Marks: 2.00
Match List I with List I Match List I with List II
LISTI LISTII LISTI LISTII
A [Scenario testing I |To verify the I'O behavior of text object| | A. [Scenario testing I. |To verify the I'O behavior of text object]
B. [Regression test';ng I1. fuser acceptance methodology B. [Regression testing| II. |user acceptance methodology
C. |Component testing] III. [No new bugs after changes in program | | C. |Component testing] III. [No new bugs after changes in program
D. |Beta testing IV. |The documentation of a use case D. |Beta testing 51 IV. |The documentation of a use case
Choose the correct answer from the options given below: Choose the correct answer from the options given below:
1. A-IV B-III C-II D-I 1. A-IV B-III C-II D-I
2. A-II B-I C-IIT D-IV 2.A-II B-I C-IlT D-IV
3.A-IV B-III C-I D-II LAV B-III C-I D-II
4. A-III B-I C-IV. D-II 4. A-ITI B-I C-IV D-II
O 1
1
O 2
2

() 3 (Chosen Option)
3 (Chosen Option)

QO 4
4




Question No. 16 / Question ID 87063 Marks: 2.00

A. If some NP-complete problem P is in P that F=NF  A. If some NP-complete problem P is in P that F = NP

B. TSPis in NP B. TSPis in NP
C.SAT is in NP C.SAT is in NP
D. Hamilton circuit problem is not NP-complete D. Hamilton circuit problem is not NP-complete

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1. A.B and C only 1. A. B and C only
2.B. Cand D only 2.B. Cand D only
3. C.D and A only 3. C. D and A only
4.D. A and B only 4.D. A and B only
(O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 17 / Question ID 87027 Marks: 2.00

A B-tree used as an index for a large database table has four levels including the root node. If a new key is inserted in this index. then
maximum number of nodes that could be newly created in the process is

B
o W & n

A B-tree used as an index for a large database table has four levels including the root node. If a new key is inserted in this index. then
maximum number of nodes that could be newly created in the process is

1.5
2.4
3.3
4.2
O 1
1
O 2
2
() 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 18/ Question ID 87057 Marks: 2.00




Suppose a circular queue of capacity (n-1) elements is implemented with an array of n elements. Assume that the insertion and deletion
operations are carried out using REAR and FRONT as array index variable respectively. Initially. REAR=FRONT=0. The conditions to
detect queue empty and queue full are

1. EMPTY: REAR ==FRONT

FULL : (REAR+1) mod n ==FRONT

o

.EMPTY: (FRONT +1) mod n ==REAR
FULL: (REAR +1) mod n ==FRONT
3. EMPTY (REAR +1) mod n ==FRONT
FULL: REAR==FRONT
4. EMPTY: REAR== FRONT

FULL: (FRONT+1) mod n ==REAR
Suppose a circular queue of capacity (n-1) elements is implemented with an array of n elements. Assume that the insertion and deletion
operations are carried out using REAR and FRONT as array index variable respectively. Initially. REAR=FRONT=0. The conditions to
detect queue empty and queue full are

1. EMPTY: REAR ==FRONT

FULL : (REAR+1) mod n == FRONT

[S9]

.EMPTY: (FRONT +1) mod n == REAR
FULL: (REAR +1) mod n ==FRONT
3.EMPTY (REAR +1) mod n == FRONT

FULL: REAR==FRONT

oS

. EMPTY: REAR==FRONT

FULL: (FRONT+1) mod n == REAR

1 (Chosen Option)
1 (Chosen Option)

o Cc O O
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Question No. 19/ Question ID 87051 Marks: 2.00




Consider the following statements about the software product line system:

Statement I: At the interaction level, components provide an operator display interface and an interface with the communication system
used.

Statement II: At the I/O management level. components handle operator authentication, report generator and query manager.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
Consider the following statements about the software product line system:
Statement I: At the interaction level, components provide an operator display interface and an interface with the communication system
used.
Statement II: At the I/O management level. components handle operator authentication. report generator and query manager.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

1 (Chosen Option)
1 (Chosen Option)

o o o 0O
AR WW NN

Question No. 20/ Question ID 87042 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A process involves a library function to create a thread.
Reason R: The threads make system calls to convey their resource and I/O requirement to the Kernel.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A process involves a library function to create a thread.
Reason R: The threads make system calls to convey their resource and I/O requirement to the Kernel.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

1 (Chosen Option)
1 (Chosen Option)

c O © O
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Question No. 21/ Question ID 87059 Marks: 2.00




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The AVL trees are more balanced as compared to Red Black trees. but they may cause more rotations during insertion and
deletion

Reason R: A Red Black tree with n nodes has height that is greater than 2 log, (n+1) and the AVL tree with n nodes has height less than

logs (Jg (n+ 2)) —2 (where @ is golden ratio)

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R is NOT the correct explanation of A
3. Ais true but R is false

4. A 1s false but R is true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The AVL trees are more balanced as compared to Red Black trees. but they may cause more rotations during insertion and
deletion

Reason R: A Red Black tree with n nodes has height that is greater than 2 log, (n+1) and the AVL tree with n nodes has height less than

logs (Jg (n+ 2)) —2 (where @ is golden ratio)

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

1 (Chosen Option)

1 (Chosen Option)

o o o O
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Question No. 22/ Question ID 87079 Marks: 2.00




Match List I with List IT

LISTI

LIST I1

. [Physical layer | I |Transforming the raw bits in the form of frame for transmission

[Data Link Layer] II. |Control and monitoring of subnet

[Network layer | III. [Transmission of raw bits over communication channel

o|o|w|=

. |Transport layer | IV. [Datagrams transmission data through connection oriented or connectionless using datagram

Choose the correct answer from the options given below:

1. A-III B-II CI D-IV

2. A-II B-III C-I D-IV

3. A-III B-I C-II D-IV

4. A-II B-IV C-I D-II
Match List I with List IT

LISTI

LIST II

. [Physical laver | I |Transforming the raw bits in the form of frame for transmission

[Data Link Layer] II. |Control and x_nonitoring of subnet

[Network layer | III. |[Transmission of raw bits over communication channel

o|o|w|=

. |Transport layer | IV. [Datagrams transmission data through connection oriented or connectionless using datagram

Choose the correct answer from the options given below:

1. A-III B-II C-I D-IV
2 AT B-III C-I D-IV
3. A-III B-I C-II D-IV
4. A-II B-IV C-I D-II
O 1

1
O 2

2

3 (Chosen Option)

3 (Chosen Option)

O 4
4

Question No. 23/ Question ID 87008

Marks: 2.00

Let R={x xe N.xis multiple of 3 and x = 100} and § = {x  xe N, X is a multiple of 5 and x < 100}. What is the number of elements in

RNS)x(SNRY?

. 36
33
.20
.6

o —

P SN

Let R={x xe N.xis multiple of 3 and x = 100} and § = {x  xe N, X is a multiple of 5 and x < 100}. What is the number of elements in

RNS)x(SNRY?

. 36
33
.20
6

o —

P SN

1 (Chosen Option)
1 (Chosen Option)

o ©c O O
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Question No. 24/ Question ID 87026

Marks: 2.00




let R (A.B.C, D) be a relational schema with following function dependencies:
A—B.B—C

C—D and D—B

The decomposition of R into

(A.B) (B.C) (B.D)

. gives a lossless join, and is dependency preserving

. gives lossless join, but is not dependency preserving

. does not give a lossless join, but is dependency preserving

. does not give a lossless join and is not dependency preserving

let R (A.B.C. D) be a relational schema with following function dependencies:

W o =

S

A—B.B—=C
C—D and D—B
The decomposition of R into

(A.B) (B.C) (B.D)

. gives a lossless join, and is dependency preserving

. gives lossless join. but is not dependency preserving

. does not give a lossless join, but is dependency preserving

. does not give a lossless join and is not dependency preserving

1 (Chosen Option)
1 (Chosen Option)

R
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Question No. 25/ Question ID 87066 Marks: 2.00




Consider the following finite automata F1 that accepts a language L

Let F2 be a finite automata which is obtained by reversal of F1. Then which of the following is correct?

1.L(F1) #L(F2)
2.L(F1)=L(F2)
3.L(F1) <L(F2)
4.L(F1) >L(F2)
Consider the following finite automata F1 that accepts a language L

Let F2 be a finite automata which is obtained by reversal of F1. Then which of the following is correct?

1.L(F1) £ L(F2)
2.L(F1) =L(F2)
3. L(F1) <L(F2)

4.L(F1) >L(F2)

o o O O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 26 / Question ID 87044 Marks: 2.00




Given below are two statements:

Which of the following statement/s is/are correct with respect to virtual memory

Statement I: Address translation is performed for every logical address used during the execution of a program

Statement II: A program can execute only when all of its components are loaded in the memory

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct
Given below are two statements:

Which of the following statement/s is/are correct with respect to virtual memory

Statement I: Address translation is performed for every logical address used during the execution of a program

Statement II: A program can execute only when all of its components are loaded in the memory

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

1 (Chosen Option)
1 (Chosen Option)

o © O O
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Question No. 27 / Question ID 87001

Marks: 2.00

There are M points on one straight line 4B and » points on another straight line 4C none of them being 4. How many triangles can be

formed with these points as vertices?

1. mn(m+n—2)

o

1
.~ mn(m+n-2
5 mn(m+n—2)
1
3.-_’—mn(m+n—l)

4, ;nn(m +n-1)

There are M points on one straight line 4B and » points on another straight line 4C none of them being 4. How many triangles can be

formed with these points as vertices?

1. mn(m+n—2)

[39]

1
.~ mn(m+n-2
5 mn(m+n—2)
1
3: -imn(m+n—l)
4. mn(m+n-1)

O 1
1
O 2
2




() 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 28/ Question ID 87087 Marks: 2.00

Given below are two statements:
Statement I: Fuzzifier is a part of a fuzzy system
Statement II: Inference engine is a part of fuzzy system

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 1s correct
Given below are two statements:

Statement I: Fuzzifier is a part of a fuzzy system
Statement II: Inference engine is a part of fuzzy system

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement I are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

1 (Chosen Option)
1 (Chosen Option)

o O O 0O
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Question No. 29/ Question ID 87028 Marks: 2.00

Consider the following statements:

A. A database design is in BCNF if each member of the set of relation schemas that constitutes the design is in BCNF
B. A BCNF schema can have transitive dependency

C. It is always possible to obatin a 3NF design without sacrificing a lossless join

D. There are multivalued dependencies in 4NF

1. A.Band C only
2.B. Cand D only
3. A.Band D only
4. A. C and D only

Consider the following statements:

A. A database design is in BCNF if each member of the set of relation schemas that constitutes the design is in BCNF
B. A BCNF schema can have transitive dependency

C. It is always possible to obatin a 3NF design without sacrificing a lossless join

D. There are multivalued dependencies in 4NF

1. A. B and C only
2.B.Cand D only
3. A.B and D only
4. A. C and D only




(Chosen Option)
(Chosen Option)

o © O O
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Question No. 30/ Question ID 87083

Marks: 2.00

Which of the following is not a property of a good system for representation of knowledge in a particular domain?

1. Presentation adequacy
2. infrential adequacy

3. Infential efficiency

4. acquisitional efficiency

Which of the following is not a property of a good system for representation of knowledge in a particular domain?

1. Presentation adequacy
2. infrential adequacy
3. Infential efficiency
4. acquisitional efficiency

O 1

1

(O 2 (Chosen Option)
2 (Chosen Option)
O 3
O

3
4
4

Question No. 31/ Question ID 87019

Marks: 2.00

What will be the output of the following code? What will be the output of the following code?

# include < stdio. h>
int main () {
mta.b,c:

a=ox10; b=010:
c=a+h:

printf ( "%d". ¢):
return 0:

}

20

24

. Garbage
. error

01
1

el S

O 2
2

() 3 (Chosen Option)
3 (Chosen Option)

O 4
4

# include < stdio. h>
int main () {

mta. b, c:

a=ox10; b=010:
c=ath:

printf ( "%d". ¢):
return 0:

}

20

24

. Garbage
. etror

il S

Question No. 32/ Question ID 87012

Marks: 2.00




What 1s the (4+4) fit binary fixed point equivalent of -(3.72),,? What is the (4+4) fit binary fixed point equivalent of -(3.72)14?

.0011.1100
.0011.1010
. 1100.0100
.0011.1011

.0011.1100
.0011.1010
. 1100.0100
.0011.1011

F SOV NS
SOV S

o o O O
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4 (Chosen Option)
4 (Chosen Option)

Question No. 33/ Question ID 87004 Marks: 2.00

Let N denote the set of all natural numbers and R be the relation on NXN defined by (a.b)R(c.d). if ad(b+c)=be(a+d). Then R is

1. Symmetric only
2. Reflexive only
3. Transitive only
4. An equivalence relation
Let N denote the set of all natural numbers and R be the relation on NXN defined by (a.b)R(c.d). if ad(b+c)= be(a+d). Then R is

1. Symmetric only

2. Reflexive only

3. Transitive only

4. An equivalence relation

1 (Chosen Option)
1 (Chosen Option)

Cc O O O
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Question No. 34/ Question ID 87068 Marks: 2.00

The maximum yield length of the following CNF CFG is The maximum yield length of the following CNF CFG is

S—AB S—AB
A—CD A—CD
B—e B—e
C—a C—a
D—b D—b
1.8 1.8
2.7 2.7
3.4 3.4
4.5 4.5
(O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4




Question No. 35/ Question ID 87014 Marks: 2.00

Let @ denote XOR operation. Let 1 and 0 denote the binary constants and F is the Boolean expression over two variables P and Q
F(P.0)=(1eP)@(P®Q))®((PeQ)®(0®0))

Which of the following is equivalent expression to F?

[ SR
W v
+ @
Qo

=

P®0

Let @ denote XOR operation. Let 1 and 0 denote the binary constants and F is the Boolean expression over two variables P and Q
F(P.0)=(1eP)@(P®Q))®((PeQ)®(0®0))

Which of the following is equivalent expression to F?

—

. P®Q
P+ 0
- P+Q

=

s oW
o
®
1Q

(Chosen Option)
(Chosen Option)

o O O C
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Question No. 36 / Question ID 87032 Marks: 2.00

Which of the following scenario may lead to an irrecoverable error in a database system?

1. A transaction writes a data item after it is read by an uncommitted transaction

2. A transaction reads a data item after it is read by an uncommitted transaction

3. A transaction reads a data item after it is written by a committed transactions

4. A transaction reads a data item after it is written by an uncommitted transaction.
Which of the following scenario may lead to an irrecoverable error in a database system?

1. A transaction writes a data item after it is read by an uncommitted transaction

2. A transaction reads a data item after it is read by an uncommitted transaction

3. A transaction reads a data item after it is written by a committed transactions

4. A transaction reads a data item after it is written by an uncommitted transaction.

O 1
1
O 2
2
3 (Chosen Option)

3 (Chosen Option)

O 4
4

Question No. 37/ Question ID 87046 Marks: 2.00




An observational technique that can be used to understand operational process and help to derive requirement for software to support
operational process is known as

1. Requirement specification

2. Structural specification

3. Ethnography

4. Natural language specification
An observational technique that can be used to understand operational process and help to derive requirement for software to support
operational process is known as

1. Requirement specification
2. Structural specification
3. Ethnography
4. Natural language specification
O 1
1
(O 2 (Chosen Option)
2 (Chosen Option)
O 3
3

O 4
4

Question No. 38/ Question ID 87043 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
A virtual memory system uses first-in first-out page replacement policy and allocates a fixed number of frames to a process
Assertion A: Increasing number of page frames allocated to a process sometimes increases the page fault rate.

Reason R: Some programs do not exhibit locality of reference.
In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Alis true but R is false

4. A is false but R is true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

A virtual memory system uses first-in first-out page replacement policy and allocates a fixed number of frames to a process
Assertion A: Increasing number of page frames allocated to a process sometimes increases the page fault rate.

Reason R: Some programs do not exhibit locality of reference.
In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
O 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4




Question No. 39/ Question ID 87080

Match List I with List IT

LISTI LIST II
A |CDMA I. |It provides mobile internet connection with faster data transfer rates
B. |GSM II. |It allows user to connect to a network or to other devices over wireless channell
C. [UMTS I1T. |JAccessing mechanism for multiple transmitters over a single channel
D. [WiFi IV. It 1s a cellular technology that employs hybrid of FDMA and TDMA

Choose the correct answer from the options given below:

1. A-III B-IV CII D-I

2. A-III B-IV C-I D-I

3. A-II B-III C-IV  D-I

4, A-II B-I C-IV D-III
Match List I with List IT

LISTI LISTII
A. |CDMA I. |It provides mobile internet connection with faster data transfer rates
B. |GSM II. |It allows user to connect to a network or to other devices over wireless channell
C. [UMTS III. JAccessing mechanism for multiple transmitters over a single channel
D. [WiFi IV. |It is a cellular technology that employs hvbrid of FDMA and TDMA

Choose the correct answer from the options given below:

1. A-III B-IV CII D-I

2. A-III B-IV CII D-II

3.A-II B-III C-IV.  D-I

4. A-II B-I C-IIV D-II

O 1
1

(O 2 (Chosen Option)
2 (Chosen Option)

Q
O

DA WOW

Marks: 2.00

Question No. 40/ Question ID 87069

Consider the following language :

L={we{ab.c}* n, (o) +ny(0)=n(w)} L= {we{ab.c }* n, (o) +ny (o) =n(0)}

Lis

1. Context free but not linear
2. Not context free
3. Context free and linear
4. Linear
o1

1
O 2

2
(O 3 (Chosen Option)

3 (Chosen Option)
@) 4

4

Consider the following language :
Lis

1. Context free but not linear
2. Not context free

3. Context free and linear

4. Linear

Marks: 2.00

Question No. 41/ Question ID 87088

Marks: 2.00




Which of the following 1s not a mutation operator in a genetic algorithm?

A. Random resetting
B. Scramble

C. Inversion

D. Difference

Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3. Cand D only
4.D only
Which of the following is not a mutation operator in a genetic algorithm?

A. Random resetting
B. Scramble

C. Inversion

D. Difference

Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3. Cand D only
4.D only

o o O O
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4 (Chosen Option)
4 (Chosen Option)

Question No. 42/ Question ID 87038 Marks: 2.00

Consider the following table of arrival time and burst time for three processes P0.P1 P2:

Process arrival time Burst time
PO 0 ms 7
P1 1ms 3
P2 2 ms 7

The pre-emptive shortest job first scheduling algorithm is used. Scheduling is carried out only at arrival or completion of a process. What

is the average waiting time for the three processes?

1.3 ms
2.3.67ms
3.4.47 ms
4. 4ms
Consider the following table of arrival time and burst time for three processes P0.P1 P2:
Process arrival time Burst time
PO 0 ms 7
P1 1 ms 3
P2 2 ms 7

The pre-emptive shortest job first scheduling algorithm is used. Scheduling is carried out only at arrival or completion of a process. What

is the average waiting time for the three processes?

1.3 ms
2.3.67ms
3.447 ms
4. 4ms




1
1
2 (Chosen Option)
2 (Chosen Option)

3

o O O C

3
4
4

Question No. 43/ Question ID 87081 Marks: 2.00

Which is not the component of the natural language understanding process?

1. Morphological analysis
2. Semantic analysis
3. Pragmatic analysis
4. Meaning analysis
Which is not the component of the natural language understanding process?

1. Morphological analysis
2. Semantic analysis

3. Pragmatic analysis

4. Meaning analysis

O 1
1

O 2
2

() 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 44 / Question ID 87058 Marks: 2.00

Consider a hash table of size seven with starting index zero and a hash function (6x +3) mod 4. Assuming the hash table is initially empty.
Which of the following is the content of the table when the sequence 1.3.8.10.5 . is inserted into the table using closed hashing? Here
" " denotes an empty location in the table.

1.1,3,;810,5; 5

2.3.8.1,.,10..5

3:_:3.8.15 ;105

4. 1.3,8.10.5._
Consider a hash table of size seven with starting index zero and a hash function (6x +3) mod 4. Assuming the hash table is initially empty.
Which of the following is the content of the table when the sequence 1.3.8.10.5 . is inserted into the table using closed hashing? Here
" " denotes an empty location in the table.

1. 1,38105, 5
2.3.8.1..10_5
3. 381,105
4.713.8.10.5._

o O O O
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4 (Chosen Option)
4 (Chosen Option)

Question No. 45/ Question ID 87056 Marks: 2.00




A three dimensional array in C++ 1s declared as int A [a] [b] [c]. Consider that array elements are stored in row major order and indexing

begin from 0. Here the address of an item at the location A [r] [s] [t] computed in terms of word length w of an integer is

W o =

e

. & A[0][0] [0] + w ( b¥c*s+c*r+t)
& A [0][0] [0] + w ( b*cHr¥+c*s+t)
. & A[0] [0] [0] + w (a*b¥r*+c*stt)
& A[0][0] [0] + w ( a*b¥s+c*r+t)

A three dimensional array in C++ is declared as int A [a] [b] [c]. Consider that array elements are stored in row major order and indexing

begin from 0. Here the address of an item at the location A [r] [s] [t] computed in terms of word length w of an integer is

O S

O 1
1

(O 2 (Chosen Option)
2 (Chosen Option)

. & A[0][0] [0] +w ( b*c*s+cHr+t)
. & A[0][0] [0] +w ( b¥*cHr¥+c*s+t)
. & A[0][0] [0] +w (a*b*r¥+c*s+t)
. & A[0][0] [0] +w (a*b*s+c*r+t)

O 3
3
O 4
4
Question No. 46 / Question ID 87035 Marks: 2.00
Match List I with List II Match List I with List IT
LISTI LISTII LISTI LISTII
A_|RAID level 2 | I. |Bit interleaved parity A_JRAID level 2 | I. |Bit interleaved parity
B. RAID level 4 | II. |Block interleaved distributed parity B. RAID level 4 | II. |Block interleaved distributed parity
C. [RAID level 5 |III [Error correcting parity C. |RAID level 5 |IIL [Error correcting parity
D. RAID level 3 |IV. [Block interleaved parity D. |RAID level 3 | IV. [Block interleaved parity
Choose the correct answer from the options given below: Choose the correct answer from the options given below:
1. A-IV B-III C-I D-II 1. A-IV B-III C-I D-II
2. A-III B-IV C-II D-I 2. A-III B-IV C-II D-I
3. A-IIT B-I C-II D-IV 3. A-III B-I C-II D-IV
4. A-I B-III C-IV D-I 4. A-I B-III C-IV D-I
O 1
1
(O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 47 / Question ID 87090 Marks: 2.00

Match List I with List IT

Match List I with List IT

LISTI LIST II LISTI LIST II
A [Expert svstem I. |Decision tree A |[Expert svstem I. |Decision tree
B. |[Fuzzy system II. |Scramble B. [Fuzzy system II. |Scramble
C. |Operator in genetic algorithm| II1. |Inference engine] C. |Operator in genetic algorithm] II1. |Inference engine]
D. |Supervised technique IV. Mycin D. |Supervised technique IV. Mycin

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1LA-IV B-I C-III D-I
2. A-III B-IV CII DA
3 A-IV B-II C-II D-I
4. A-I B-II CJII D-IV

1LA-IV B-I C-IIl D-II
2.A-III B-IV. C-II D-
3.A-IV B-IIl C-II  D-I
4. A-I B-Il CJII D-IV




1 (Chosen Option)
1 (Chosen Option)

o © O O
AR WW NN

Question No. 48/ Question ID 87075 Marks: 2.00

Consider following statements:

A. A context free language is generated by LR(o0) grammar if and only if it is accepted by a deterministic pushdown automata and has
prefix property

B. If M1 is the single tape TM simulating multilape TM M, then time taken by M1 to simulate n moves is (113)

C. Push down automata behaves like a Turning machine when it has one auxiliary memory.

D.L= {a"b%c": n 21 } is not context free but context sensitive.

Choose the correct answer from the options given below:

1. A. B and C only
2. A.Bonly
3.C.D only
4. B. C only

Consider following statements:

A. A context free language is generated by LR(0) grammar if and only if it is accepted by a deterministic pushdown automata and has
prefix property

B. If M1 is the single tape TM simulating multilape TM M. then time taken by M1 to simulate n moves is (n°)

C. Push down automata behaves like a Turning machine when it has one auxiliary memory.

D.L= {a"b%c": n =1 } is not context free but context sensitive.

Choose the correct answer from the options given below:

1. A. B and C only
2. A.Bonly
3.C.D only
4. B. C only

O 1
1

O 2
2

() 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 49/ Question ID 87050 Marks: 2.00




Consider a popular sports news site. At a given moment. 20.000 concurrent users submit a request (a transaction. T) once every 2 minutes
on average. Each transaction requires the webapp to download a new article that on average has 3k bytes in length. What is the

throughput?

1. 8 megabits per second
2. 4 megabits per second
3. 6 megabits per second
4. 2 megabits per second

Consider a popular sports news site. At a given moment. 20.000 concurrent users submit a request (a transaction. T) once every 2 minutes
on average. Each transaction requires the webapp to download a new article that on average has 3k bytes in length. What is the

throughput?

1. 8 megabits per second
2. 4 megabits per second
3. 6 megabits per second
4. 2 megabits per second
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 50/ Question ID 87003

Marks: 2.00

How many integral solutions are theretox +y +z+w=29, wherex>1,y>2.z>3 and w> 0?

. 2400
. 2600
. 2800
3000

L R

>

How many integral solutions are theretox +y +z+w=29. wherex>1,y>2.z>3 and w > 0?

2400
2600
2800
. 3000
01
1
(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
O 4
4

o o~

o

Question No. 51/ Question ID 87031

Marks: 2.00




Let R (A.B. C.D.F) be a relational schema with following functional dependencies:

C— F.E —A. EC —D. A—B. Which of the following is a key for R?

o
kB0

3.
4. AC

Let R (A.B. C.D.F) be a relational schema with following functional dependencies:

C— F.E —A, EC —D. A—B. Which of the following is a key for R?

th 0
0o

B e
=

(Chosen Option)
(Chosen Option)
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Question No. 52/ Question ID 87018

What is the output of following code?
main ()

struct sl

{ char * z;

int i

struct s1 * p:

¥

static structsla[]={
{"Nagpur". 1, a+1}
{"Raipur', 2, a+2}
{"Kanpur', 3. a}

o

struct s1* ptr =a:

printf ( %s %s %s 'n". a[0].z. ptr—z. a[2].p —z): printf ( Y%s Y%s %s 'n". a[0].z. ptr—z. a[2].p —z):

}

1. Nagpur Raipur Kanpur
2. Nagpur Nagpur Nagpur
3. Kanpur Kanpur Kanpur
4. Error
o1
1
(O 2 (Chosen Option)
2 (Chosen Option)

O

O
PNIFNERER

What is the output of following code?
main ()

struct sl

{ char * z;

int i

struct s1 * p:

¥

static structsla[]={
{"Nagpur". 1, a+1}
{"Raipur', 2, a+2}
{"Kanpur', 3. a}

o

struct s1* ptr =a:

}

1. Nagpur Raipur Kanpur
2. Nagpur Nagpur Nagpur
3. Kanpur Kanpur Kanpur
4. Error

Marks: 2.00




Question No. 53/ Question ID 87030

Which one of the following is NOT a part of ACID properties of a database transaction?

. Atomicity

. Consistency

. Isolation

. Deadlock-freedom

Which one of the following is NOT a part of ACID properties of a database transaction?

w0 o~

1. Atomicity

2. Consistency

3. Isolation

4. Deadlock-freedom

o o O O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 54/ Question ID 87045

Match List I with List IT Match List I with List IT

LISTI

LIST II

. [Critical region | I. |Hoare's monitor

. [Wait/signal II. Mutual exclusion

. |Working set II1. |Principle of locality

@] [l [o] 2

. [Deadlock IV. [Circular wait

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1LA-IV B-I C-III D-I
2. A B-I C-Ill D-IV

3. A B-II C-II D-IV
4. A-IV B-Ill C-I DI

O1
1

() 2(Chosen Option)
2 (Chosen Option)

O
@)

A OW

LISTI

LIST II

. [Critical region

I

[Hoare's monitor

. |Wait/signal

18

Mutual exclusion

. |Working set

1L

Principle of locality

@] fol [o] 2

. [Deadlock

V.

Circular wait

1LA-IV B-I
2.A-II B-I

3.A-I B-II

4. A-IV B-III

C-Ill D-I

C-IlT  D-IV

C-III  D-IV

C-I D-I

Marks: 2.00

Question No. 55/ Question ID 87078

Marks: 2.00




Consider two hosts P and Q that are connected through a router R. The maximum transfer unit (MTU) value of the link between P and R 1s
1500 bytes and between R and Q is 820 bytes. A TCP segment of size 1400 bytes is transferred from P to Q through R with IP
identification value of 0x1234. Assume that IP header size is 20 bytes. Further the peaket is allowed to be fragmented that is Don't
fragment (DF) flag in the IP Header is not set by P. Which of the following statement/s is/are true?

A. Two fragments are created at R and IP datagram size carrying the second fragment is 620 bytes
B. If the second fragment is lost, then R resends the fragment with IP identification value of 0x1234
C. If the second fragment lost. then P requires to resend the entire TCP segment.

D. TCP destination port can be determined by analyzing the second fragment only.

Choose the correct answer from the options given below:

1. A. B and C only

2. Aand C only

3. Cand D only

4.B and D only
Consider two hosts P and Q that are connected through a router R. The maximum transfer unit (MTU) value of the link between P and R is
1500 bytes and between R and Q is 820 bytes. A TCP segment of size 1400 bytes is transferred from P to Q through R with IP
identification value of 0x1234. Assume that IP header size is 20 bytes. Further the pcaket is allowed to be fragmented that is Don't
fragment (DF) flag in the IP Header is not set by P. Which of the following statement/s is/are true?

A. Two fragments are created at R and IP datagram size carrying the second fragment 1s 620 bytes
B. If the second fragment is lost. then R resends the fragment with IP identification value of 0x1234
C. If the second fragment lost. then P requires to resend the entire TCP segment.

D. TCP destination port can be determined by analyzing the second fragment only.

Choose the correct answer from the options given below:

1. A. B and C only
2. Aand C only
3. Cand D only
4. B and D only
O1
1
O 2
2
() 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 56 / Question ID 87086 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Dendral is an expert system
Reason R: The rationality of an agent is not related to its reaction to the environment.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Dendral is an expert system
Reason R: The rationality of an agent is not related to its reaction to the environment.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true




(Chosen Option)
(Chosen Option)
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Question No. 57/ Question ID 87037 Marks: 2.00

In a multiuser operating system. 20 requests are made to use a particular resource per hour. on an average. The probability that no request
is made in 45 minutes is

o =
'
w

e

4.1-¢10
In a multiuser operating system. 20 requests are made to use a particular resource per hour. on an average. The probability that no request
is made in 45 minutes is

L¥5)

1.e15

2.¢7

3.1-¢7

4.1-10

O1
1

O 2
2

(O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 58/ Question ID 87036 Marks: 2.00

At a particular time of computation, the value of a counting semaphore is 7. Then 20 p operations and 'x' V operations were completed on
this semaphore. If the final value of semaphore is 5. x will be

1.15

2.22

3.18

4.13
At a particular time of computation, the value of a counting semaphore is 7. Then 20 p operations and 'x' V operations were completed on
this semaphore. If the final value of semaphore is 5. x will be

1
1
2
2
3 (Chosen Option)
3 (Chosen Option)
4
4

Question No. 59/ Question ID 87085 Marks: 2.00




Which of the following 1s not a solution representation in a genetic algorithm?

1. Binary valued
2. Real valued
3. Permutation

4. Combinations
Which of the following is not a solution representation in a genetic algorithm?

1. Binary valued
2. Real valued
3. Permutation
4. Combinations

1 (Chosen Option)
1 (Chosen Option)

o © o O
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Question No. 60/ Question ID 87072

Marks: 2.00

Which phase of compiler checks the grammar of programming? Which phase of compiler checks the grammar of programming?

1. Code optimization 1. Code optimization
2. Semantic analysis 2. Semantic analysis
3. Code generators 3. Code generators
4. Syntax analysis 4. Syntax analysis
O 1
1

() 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 61/ Question ID 87033

Given the basic E R diagram and relational model. which of the the following is incorrect?

1. An attribute of an entity can have more than one value

2. An attribute of an entity can be composite

3. In a row of relational table. an attribute can have more than one value

4. In a row of a relational table. an attribute can have exactly one value or a NULL value
Given the basic E R diagram and relational model. which of the the following is incorrect?

1. An attribute of an entity can have more than one value

2. An attribute of an entity can be composite

3. In a row of relational table, an attribute can have more than one value

4. In a row of a relational table. an attribute can have exactly one value or a NULL value

o o o O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 62/ Question ID 87011

Marks: 2.00




rocessor chip is used for application in which 30% of execution time is spent on floating point addition. For the new model of the
Ap hip d for applicat hich 30% of tion t pent on floating point addition. For tl del of tt
processor. the design team has come up with redesign the floating point adder to make it twice as fast. What will be possible maximum
speed up by this redesign?

.2.0
. 1.06
.1.18

4.25
A processor chip is used for application in which 30% of execution time is spent on floating point addition. For the new model of the
processor. the design team has come up with redesign the floating point adder to make it twice as fast. What will be possible maximum
speed up by this redesign?

W o -

O

(O 2 (Chosen Option)
2 (Chosen Option)

O

O

A WOW

Question No. 63/ Question ID 87029 Marks: 2.00

Given below are two statements:

Which of the following concurrency control protocol ensures both conflict serializability and freedom from deadlock?
statement I: Two phase locking

statement Il: Timestamp ordering

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct
Given below are two statements:

Which of the following concurrency control protocol ensures both conflict serializability and freedom from deadlock?
statement I: Two phase locking
Statement Il: Timestamp ordering

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct

O
O

WW NN PP




() 4 (Chosen Option)
4 (Chosen Option)

Question No. 64/ Question ID 87089 Marks: 2.00

Consider the following statements

A. C-Fuzzy means clustering is a supervised method of learning

B. PCA is used for dimension reduction

C. Apriori is not a supervised technique

D. When a machine learning model becomes so specially tuned to its exact input data that it fails to generalize to other similar data it is
called underfitting

Choose the correct answer from the options given below:

l.Aand B
2.Band C
3.CandD
4.Dand A
Consider the following statements

A. C-Fuzzy means clustering is a supervised method of learning

B. PCA is used for dimension reduction

C. Apriori is not a supervised technique

D. When a machine learning model becomes so specially tuned to its exact input data that it fails to generalize to other similar data it is
called underfitting

Choose the correct answer from the options given below:

1.Aand B
2.Band C
3.CandD
4. Dand A

4 (Chosen Option)
4 (Chosen Option)

o o o O
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Question No. 65/ Question ID 87021 Marks: 2.00

Southerland Hodgeman method is used on Southerland Hodgeman method is used on

1. Smooth curves 1. Smooth curves

2. Line segment 2. Line segment

3. Convex polygons 3. Convex polygons

4. Concave polygons 4. Concave polygons
O 1

1

2 (Chosen Option)

2 (Chosen Option)

O
@]
O

A OW

Question No. 66 / Question ID 87074 Marks: 2.00




A. The set of turning machine codes for TM's that accept all inputs that are palindromes (possible along with some other inputs) 1s
decidable

B. The language of codes for TM's M that when started with blank tape . eventually write a 1 somewhere on the tape is undecidable

C. The language accepted by a TM M is L (M) is always recursive

D. Post's correspondence problem is undecidable

Choose the correct answer from the options given below:

.A. B and C only

.B. C and D only

.Aand C only

.B and D only

. The set of turning machine codes for TM's that accept all inputs that are palindromes (possible along with some other inputs) is
decidable

B. The language of codes for TM's M that when started with blank tape . eventually write a 1 somewhere on the tape is undecidable

C. The language accepted by a TM M is L (M) is always recursive

D. Post's correspondence problem is undecidable

P AW

Choose the correct answer from the options given below:

1. A.B and C only
2.B. C and D only
3. Aand C only
4.B and D only

O1
1
(O 2 (Chosen Option)
2 (Chosen Option)
O
O

A WOW

Question No. 67 / Question ID 87006 Marks: 2.00

Let G :W and H = {—l, |} be groups under the multiplication. Then, the map ¢:G — # defined by ¢(x)= ﬁ 1s

1. Not a homomorphism

2. A one-one homomorphism. which is not onto

3. An onto homomorphism. which is not one to one
4. An homomorphism

Let G =m and H = {—1, |} be groups under the multiplication. Then, the map ¢:G — # defined by ¢(¥) =ﬁi 1s

1. Not a homomorphism
2. A one-one homomorphism. which is not onto
3. An onto homomorphism. which is not one to one
4. An homomorphism
O 1
1
2 (Chosen Option)
2 (Chosen Option)

Q
@]
@]

A WOW

Question No. 68/ Question ID 87071 Marks: 2.00




Which of the following parser is most powerful parser? Which of the following parser 1s most powerful parser?

. Operator precedence
.SLR

. Canonical LR
.LALR

O1
1

L O

O 2
2

() 3 (Chosen Option)
3 (Chosen Option)

1. Operator precedence
2.SLR

3. Canonical LR

4. LALR

Q 4
4
Question No. 69/ Question ID 87017 Marks: 2.00
What is x in the following program? What is x in the following program?
# include < stdioh> # include < stdioh>
int main () int main ()
{typedef (* (* arrfptr [3]) () ) [10]: {typedef (* (* arrfptr [3]) () ) [10]:
arrfptr x arrfptr x
return 0 : return 0 :
¥ }
1. x is a pointer 1. x is a pointer
2. x is a array of three pointer 2. x is a array of three pointer
3. x is an array of three function pointer 3. x is an array of three function pointer
4. Error in x declaration 4. Error in x declaration
O 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 70/ Question ID 87002 Marks: 2.00

Find the sum of all four digit numbers formed using the digits 1.2.4 and 6.

. 86.658
. 88.8858
.91.958
4.93.358

w oo =

Find the sum of all four digit numbers formed using the digits 1.2.4 and 6.

. 86.658
. 88.8858
.91.958
. 93.358

B S




1 (Chosen Option)
1 (Chosen Option)
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Question No. 71/ Question ID 87054 Marks: 2.00

Consider the following statements:

A. Dynamic metrics are collected by measurements made of a program in execution

B. Static metrics are collected by measurements made of representations of the system

C. The assessment of software quality is an objective process

D. An important part of quality assurance in the selection of standards that should apply to the software development process.

Choose the correct answer from the options given below:

1. A.B C only

2.B. C and D only
3.A. Cand D only
4. A.B and D only

Consider the following statements:

A. Dynamic metrics are collected by measurements made of a program in execution

B. Static metrics are collected by measurements made of representations of the system

C. The assessment of software quality is an objective process

D. An important part of quality assurance in the selection of standards that should apply to the software development process.

Choose the correct answer from the options given below:

A.B C only

B. Cand D only
A. Cand D only
A.Band D only

1 (Chosen Option)
1 (Chosen Option)

I:
2:

3.
4.

o © O O
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Question No. 72/ Question ID 87049 Marks: 2.00




The following table shows the time between failures for a software :

Error number 12 3 4 (5

time since last failure (Hours) 6 14 (8 |5 |6

The reliability of the system for one hour operation assuming an exponential model is-

=9
* e 29

9
g e_%9
4. e"‘/zg

The following table shows the time between failures for a software :

—

o

w

Error number 12 3 [4 5

time since last failure (Hours) 6 14 I8 I3 |6

The reliability of the system for one hour operation assuming an exponential model is-

=9
* e 29

P
# e‘ét}

=3
: e 29

—

o

w

=

1
1
2 (Chosen Option)
2 (Chosen Option)
3

o O O C

3
4
4

Question No. 73/ Question ID 87067 Marks: 2.00

Which of the following statement is correct?

[a—y

. Ackermann's function is primitive recursive.
o {a"bkcmk n20,k2 0} is regular language.

o

3:L= {a"bJ = 2} is not context free language

4. For every context sensitive language L not including A. there exists some linear bounded automata M such that L # L(M).
Which of the following statement is correct?

—

. Ackermann's function is primitive recursive.
L= {a"bkc'"+k n20,k2 0} is regular language.

o

(95}

sli= {a"b‘/ m=J 2} is not context free language

oS

. For every context sensitive language L not including 1., there exists some linear bounded automata M such that L # L(M).

o o O O
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4 (Chosen Option)
4 (Chosen Option)




Question No. 74/ Question ID 87020

Marks: 2.00

How will you free the memory allocated by the following program? How will you free the memory allocated by the following program?

# include <stdio.h>
#include < stdlib. h>
#define MAXROW 3
#define MAXCOL 4
int main ()

{

int ** p. 1, j:

p= (int **) malloc (MAXROW * size of (int*)):

return 0:

}

1. memfree (int p):
2. dealloc (p):
3. malloc (p.0):
4. free (p):
O 1
1
(O 2 (Chosen Option)
2 (Chosen Option)

@)
@]

A WOW

# include <stdio.h>
#include < stdlib. h>
#define MAXROW 3
#define MAXCOL 4
int main ()

{

mt ** p. i, j:

p= (int **) malloc (MAXROW * size of (int*)):

return 0:

}

1. memfree (int p):
2. dealloc (p):

3. malloc (p.0):

4. free (p):

Question No. 75/ Question ID 87082

Which is not a basic approach to the problem of conflict resolution in a production system?

1. Assigning a preference based on the rule that matched
2. Assigning a preference based the object that matched

3. Assigning a preference based on the action that the matched rule would perform
4. Assigning a preference based on the action that the matched object would perform
Which is not a basic approach to the problem of conflict resolution in a production system?

1. Assigning a preference based on the rule that matched
2. Assigning a preference based the object that matched

3. Assigning a preference based on the action that the matched rule would perform
4. Assigning a preference based on the action that the matched object would perform

O 1
1
2 (Chosen Option)
2 (Chosen Option)

@]
Q
@]

A OOW

Marks: 2.00

Question No. 76 / Question ID 87015

Marks: 2.00




Match List I with List IT Match List I with List IT

LIST I LIST II LIST I LIST II

A JAAB I [A-B)uA-C) A JAAB L [A-B)u@-0)
B.JA-BuC) |IL[A-B)N(A-C) B.JA-BuC) |IL[A-B)N(A-C)
CJA-BNC) |IL[A-B)uB-A) c.lA-no [HnLjfa-B)uB-A)
D.[An@®-C [wvfanB)-(anc D.[An@®-¢ [wfanB-@anc

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1. Al B-II C-1 DIV 1. A-l B-ll C-1 DIV
2. Al B-lIl G-IV D-I 2. Al B-lIl G-IV D-l
3. A-IVB-IIl C-I D-lI 3. A-IVB-lIl C-I D-Il
4. A-IV B-I C-lll D-lI 4. A-IV B-I C-lll D-lI
(O 1 (Chosen Option)

1 (Chosen Option)
@) 2

2
@) 3

3
@) 4

4

Question No. 77 / Question ID 87022 Marks: 2.00

The clipping process in computer graphics is used for The clipping process in computer graphics is used for

1. Adding graphics 1. Adding graphics

2. Copying 2. Copying

3. Zooming 3. Zooming

4. Removing objects and lines 4. Removing objects and lines

o o O O
WW NN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 78/ Question ID 87039 Marks: 2.00

Consider a disk system with cylinders. The request to aceess the cylinders occurs in the following sequence:
4,34,10.7,19.73.2.15.6.20

Assuming that the head is currently at cylinder 50, what is the time taken to satisfy all requests if it takes 1 ms to move from one cylinder
to adjacent one and shortest seek time first policy is used?

. 119 ms
. 120 ms
. 142 ms
. 146 ms
Consider a disk system with cylinders. The request to access the cylinders occurs in the following sequence:

W o =

o

4.34,10.7.19.73.2.15.6.20

Assuming that the head is currently at cylinder 50. what is the time taken to satisfy all requests if it takes 1 ms to move from one cylinder
to adjacent one and shortest seek time first policy is used?

. 119 ms
. 120 ms
. 142 ms
. 146 ms

o —

= W




1 (Chosen Option)
1 (Chosen Option)
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Question No. 79/ Question ID 87023 Marks: 2.00

Consider the rectangle with vertices (0.0). (0.2), (3.0). (3.2). There is scaling of 2 towards x-axis and 3 towards y-axis. The new cordinates
of the rectangle are

1. (0.0). (6.0). (0.4). (6.4)
2. (0.0). (6.0). (0.4). (3.2)
3.(0.0). (6.0). (0.6). (6.6)
4. (0.0). (4.0). (0.6). (4.6)
Consider the rectangle with vertices (0.0). (0.2), (3.0). (3.2). There is scaling of 2 towards x-axis and 3 towards y-axis. The new cordinates
of the rectangle are

1. (0.0). (6.0). (0.4). (6.4)
2.(0.0), (6.0). (0.4). (3.2)
3. (0.0), (6.0). (0.6). (6.6)
4.(0.0). (4.0). (0.6). (4.6)
O 1
1
(O 2 (Chosen Option)
2 (Chosen Option)
O

O
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Question No. 80/ Question ID 87024 Marks: 2.00

Which of the following transforms in 2 dimension is used to resize a 2-dimensional object?

1. Translation
2. Rotation
3. Scaling
4. Shearing
Which of the following transforms in 2 dimension is used to resize a 2-dimensional object?

1. Translation
2. Rotation
3. Scaling
4. Shearing
Ol
1
O 2
2
() 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 81/ Question ID 87076 Marks: 2.00




In the standard Ethernet with transmission rate of 10 Mbps. asssume that the length of the medium 1s 2500m and size of a frame 1s 512
bytes. The propagation speed of a signal in a cable is normally 2 x 10° m/s. The transmission delay and propogation delay are

.25.25 ps and 51.2 ps
.51.2 ysand 12.5 ps
.10.24 us and 50.12 ps
.12.5 psand 51.2 ps

W o =

SN

In the standard Ethernet with transmission rate of 10 Mbps, asssume that the length of the medium is 2500m and size of a frame is 512
bytes. The propagation speed of a signal in a cable is normally 2 x 10°m/s. The transmission delay and propogation delay are

1.25.25 usand 51.2 ps
2.512 pusand 12.5 ps
3.10.24 us and 50.12 ps
4.12.5 usand 51.2 ps
o1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 82/ Question ID 87009 Marks: 2.00
Consider the following statements.
A. The identity is unique in any monoid.
B. A monoid is a group if there exists inverse of each element of monoid.
C. Semi group has closure. associative and identity properties.
D. Quasi group has closure property.
Choose the correct answer from the options given below :
1. A. B and D only
2.B. C and D only
3. A.Band C only
4. A. C and D only
Consider the following statements.
A. The identity is unique in any monoid.
B. A monoid is a group if there exists inverse of each element of monoid.
C. Semi group has closure. associative and identity properties.
D. Quasi group has closure property.
Choose the correct answer from the options given below :
1. A. B and D only
2.B. C and D only
3. A.Band C only
4. A. C and D only
O 1
1
O 2
2
(O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Marks: 2.00

Question No. 83/ Question ID 87016




What is the output of following code?

main ()
{ static floata[ ] = { 13.24, 1.5.4.5.5.4.3.5}

float #j. +k:

j=a:
k=a+4
=i
k=k/2:

printf ("% 1% £, ¥, *k):

}

1.13.25,4.5

2:3:5;35

. 13:24,1.5,4.5,54,3'5

. Illegal use of pointer in main function

1 (Chosen Option)
1 (Chosen Option)
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What is the output of following code?

main ()
{ static float a[ | = { 13.24, 1.5.4.5.5.4.3.5}

float #j. +k:
j=a:
k=a+4
=i
k=k/2:

printf ("% % £, *j. *k):

}

.13.25, 45

15535

.13.24,1.5.45,54.35

. Illegal use of pointer in main function

S S R

Question No. 84/ Question ID 87005

If A= {4n +2 | n is a natural number} and B={3n| n is a natural number}. Which of the following is correct for ANB?

1. {12112 +6n | n is a natural number}
2. {24n -12 | n is a natural number}
3. {60n +30 | n is a natural number}
. {12n -6 | n is a natural number}

e

If A= {4n +2 | n is a natural number} and B={3n| n is a natural number}. Which of the following is correct for ANB?

: {12112 +6n | n is a natural number}
. {24n -12 | n is a natural number}

. {60n +30 | n is a natural number}
. {12n -6 | n 1s a natural number}

o =

- W
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4 (Chosen Option)
4 (Chosen Option)

Marks: 2.00

Question No. 85/ Question ID 87064

Marks: 2.00




Match List I with List IT

LISTI LISTII
A [The running time of straight forward recursive method to compute nth Fibonacci number Fn L lowd
B. [The running time to compute Fn using memoization II. |O (lgn)
C. |The running time to compute Fibonacci number Fn using only integer addition and multiplication| IIL. [O (n)
D. [The running time to determine an optimal bitonic tour IV. @(‘D")
Choose the correct answer from the options given below:
1. A-I B-III C-IV D-II
2.A-IV B-III C-II D-I
3.AI B-II C-IV DI
4. A IV B-II C-IIT  D-I
Match List I with List II
LISTI LISTII
A |The running time of straight forward recursive method to compute nth Fibonacci number Fn L lo@d)
B. [The running time to compute Fn using memoization II. |O (Ign)
C. |The running time to compute Fibonacci number Fn using only integer addition and multiplication IIL. [O (n)
D. [The running time to determine an optimal bitonic tour V. @(‘b")

Choose the correct answer from the options given below:

1. A-I B-III C-IV D-II
2.A-IV B-III C-II D-I
3.A-I B-II C-IV  D-III
4, A-IV B-II C-IlIl D-I
Ol

1
() 2 (Chosen Option)

2 (Chosen Option)
O 3

3
O 4

4

Question No. 86/ Question ID 87073

Given below are two statements:
Statement I: If f and g are two functions and = O(g) but gz o(f). we say that the growth rate of g is smaller than that of £

Statement II: The class of all decision problems decided by a TM in exponential time, that is O(Zk). k being a constant.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Given below are two statements:
Statement I: If f and g are two functions and £= O(g) but g o(f). we say that the growth rate of g is smaller than that of f

Statement II: The class of all decision problems decided by a TM in exponential time, that is 025,k being a constant.

In the light of the above statements. choose the most appropriate answer from the options given below.

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct

O 1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

I:
2:

Marks: 2.00
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Question No. 87/ Question ID 87013 Marks: 2.00

256 Mb DRAM is organized as a 32M x § memory externally and as a 16K = 16K square array internally. Each row must be refreshed at
least once every 50 mili second to forestall loss of data: refreshing one row takes 100 nanoseconds. What fraction of the total memory
bandwidth is lost to refresh cycles?

. 6.6%

.3.3%

.9.9%

.4.3%

256 Mb DRAM is organized as a 32M » § memory externally and as a 16K x 16K square array internally. Each row must be refreshed at
least once every 50 mili second to forestall loss of data: refreshing one row takes 100 nanoseconds. What fraction of the total memory
bandwidth is lost to refresh cycles?

W o -

oS

. 6.6%
.3.3%
.9.9%
.4.3%
o1
1

(O 2 (Chosen Option)
2 (Chosen Option)

o —
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Question No. 88/ Question ID 87053 Marks: 2.00

Given below are two statements:
Statement I: subsystem models show logical grouping of objects into coherent subsystem
Statement II: State machine models show how objects change their states in response to events.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II 1s correct
Given below are two statements:
Statement I: subsystem models show logical grouping of objects into coherent subsystem
Statement II: State machine models show how objects change their states in response to events.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

1 (Chosen Option)
1 (Chosen Option)

c O O O
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Question No. 89/ Question ID 87061 Marks: 2.00




Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: It is possible to create doubly linked list using only one pointer with every node.

Reason R: By storing the XOR of the addresses of the previous and next nodes.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: It is possible to create doubly linked list using only one pointer with every node.

Reason R: By storing the XOR of the addresses of the previous and next nodes.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

o o o O
WWNN PP

4 (Chosen Option)
4 (Chosen Option)

Question No. 90/ Question ID 87070

The compiler for high level language that runs on one machine and produces code for other machine is called-

1. Cross compiler
2. Multipass compiler
3. Optimizing Compiler
4. One pass Compiler
The compiler for high level language that runs on one machine and produces code for other machine is called-

1. Cross compiler

2. Multipass compiler
3. Optimizing Compiler
4. One pass Compiler

WW NN PP

4 (Chosen Option)
4 (Chosen Option)

c O © O

Marks: 2.00

Question No. 91/ Question ID 87094

Marks: 2.00




Consider the following program fragment that deals with a table T with 17 rows and 1024 columns. computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0.... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [1] [j]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

Consider again that T is stored in column-major format, what is the main memory hit ratio?

. 80%
. 95.6%
.97.8%

. 99.9%
Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each

column and printing it to sereen (1 is row index and j is column index):

forj=[0..... 1023

temp = 0:

fori=[0....16]:

temp = temp + T [i] [3]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

O R

Consider again that T is stored in column-major format, what is the main memory hit ratio?

1. 80%

2.95.6%
3.97.8%
4.99.9%

1 (Chosen Option)
1 (Chosen Option)

o O O O
EEWW NN

Question No. 92/ Question ID 87093 Marks: 2.00




Consider the following program fragment that deals with a table T with 17 rows and 1024 columns. computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0.... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [1] [j]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

Consider that T is stored in column major format. how many page faults will be encountered?

.14
.15
.16

4.17
Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each

column and printing it to sereen (1 is row index and j is column index):

forj=[0..... 1023

temp = 0:

fori=[0....16]:

temp = temp + T [i] [3]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

o —

o

Consider that T is stored in column major format. how many page faults will be encountered?

1. 14
2.5
3.16
4.17
O 1
1
(O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 93/ Question ID 87091 Marks: 2.00




Consider the following program fragment that deals with a table T with 17 rows and 1024 columns. computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0.... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [1] [j]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

How many page faults will be encountered?

. 16.402

.17.408

. 18.208

. 18.608

Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0..... 1023

temp = 0:

fori=[0....16]:

temp = temp + T [i] [3]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

s o

How many page faults will be encountered?

. 16.402
. 17.408
. 18.208
. 18.608

O S

(Chosen Option)
(Chosen Option)

o o O 0O
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Question No. 94/ Question ID 87095 Marks: 2.00




Consider the following program fragment that deals with a table T with 17 rows and 1024 columns. computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0.... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [1] [j]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

What is fault ratio of row major to column major arrangements ?

.1024:1

.1301:1

. 1240:1

.9107:8

Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (1 is row index and j is column index):

forj=[0..... 1023

temp = 0:

fori=[0....16]:

temp = temp + T [i] [3]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

O R

What is fault ratio of row major to column major arrangements ?

. 1024:1
.1301:1
. 1240:1
.9107:8

O 1
1

O S

() 2(Chosen Option)
2 (Chosen Option)
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Question No. 95/ Question ID 87092 Marks: 2.00




Consider the following program fragment that deals with a table T with 17 rows and 1024 columns. computing an average for each
column and printing it to screen (i is row index and j is column index):

forj=[0.... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [1] [j]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

What is the main memory hit ratio?

W oo =
DO

4.3
Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each

column and printing it to sereen (1 is row index and j is column index):

forj=[0..... 1023

temp = 0:

fori=[0....16]:

temp = temp + T [i] [3]:

print (temp/ 17.0) : }

T [1] [j] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T is stored in the virtual address space in row major format.

What is the main memory hit ratio?

LR B
Wi = o

NN -

3 (Chosen Option)
3 (Chosen Option)
4
4
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Question No. 96 / Question ID 87098 Marks: 2.00




IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

How many more routers can the packet travel to?

22
26
30

32
IP datagram has arrived with following partial information in the header (in hexadecimal )

R Ch

&

45000054000300002006.....

How many more routers can the packet travel to?

ol g
Lo b
Do oD

(Chosen Option)
(Chosen Option)
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Question No. 97 / Question ID 87099

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the protocol of the payload being carried by the packet?

1. ICMP
2. SCTP
3. TCP protocol
4. IGMP
IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the protocol of the payload being carried by the packet?

. ICMP
.SCTP
. TCP protocol
. IGMP

1 (Chosen Option)
1 (Chosen Option)
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Marks: 2.00




Question No. 98/ Question ID 87097 Marks: 2.00

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the size of datagram?

. 64 bytes
. 74 bytes
. 84 bytes
4. 104 bytes
IP datagram has arrived with following partial information in the header (in hexadecimal )

W o =

45000054000300002006.....

What is the size of datagram?

. 64 bytes

. 74 bytes

. 84 bytes

. 104 bytes

1 (Chosen Option)
1 (Chosen Option)

B O O
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Question No. 99/ Question ID 87096 Marks: 2.00

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....
What is the header size ?

1. 10 bytes
2. 20 bytes
3. 30 bytes
4. 40 bytes
IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....
What is the header size ?

1. 10 bytes
2. 20 bytes
3. 30 bytes
4. 40 bytes

O 1
1

() 2 (Chosen Option)
2 (Chosen Option)




Question No. 100/ Question ID 87100

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the efficiency of this datagram?

. 76.19%
. 80.50%
. 82.24%
. 85.45%
IP datagram has arrived with following partial information in the header (in hexadecimal )

w0 -

45000054000300002006.....
What is the efficiency of this datagram?

.76.19%
. 80.50%
. 82.24%
. 85.45%
O1
1
(O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
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O 4
4

Marks: 2.00
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